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UGC NET PAPER 2 DECEMBER 27, 2021 SHIFT 2 HOME SCIENCE QUESTION PAPER

Topic:- HomeSci_SETZ_A

1) When was the POSHAN abhivaan launched?
ot sif oA o ¢ ot ( POSHAN ) sifirner o gafdda zam ?

[Question ID = 1551][Question Description = 52_qSNz_PG_HMS_Q01]
1. March 8, 2018/8 ad , 2018

[Opticn ID = 6201]
2. January 26, 2018/26 oot , 2018

[Option ID = 6202]
3, May 1, 2018/1 &£, 2018

[Option ID = 6203]
4. April 30, 2018730 afder , 2018

[Option ID = 6204]

2) What are Sequestrants?
Fafiforiere = & ?

[Question ID = 1552][Question Description = §2_qgSNz_PG_HMS_Q02]
1. They are added to keep the food stable / 35€ sitsrer &1 Ber 75w @ e sitel ona &

[Option ID = £205]
2. Form a complex ion with metals like copper, iron ete. / 3 vimn, ilsr snfe awrpel o =090 wos =it smemT o Bfor o £

[Option ID = 6206]
3. Added for coler / =& =1 & Fwm Sier aen 2

[Option ID = 6207]
4, They keep the food oxidized / 2 st =t Aty 2zm) &

[Option ID = 6208]

3) Vitamin D3is also known as:
fererfiver 1z @) T3 oA A it FE ST B

[Question ID = 1553][Question Description = $2_qSNz_PG_HMS_Q03]
1. Retinol/fesim

[Opticn ID = 6209]
2. Cholecalciferol/micricadia

[Option ID = 6210]
3. Tocopherol/Zmemisie

[Option ID = 6211]
4. Ergocalciferol/veifiamdia

[Option ID = 6212]

4) When the food is directly given in the veins, it is called ?
514 silsror el oral A R s B, & 39 war s § 7

[Question ID = 1554][Question Description = 52_qSNz_PG_HMS_Q04]
1. Parenteral nutrition/sArr-frr el dimo

[Option ID = 6213]
2. Enteral nutrition /qeers gigor

[Option ID = 6214]
3. Masogastric nutrition /= - so7 D

[Option ID = 6215]
4. Saline nutrition /=1 dgor

[Option ID = 6216]

5) The time and temperature used for the pasteurisation of milk is:
&£l ! Riumiel & oy sedard [den Siel aren 39 317 drgare &t
[Question ID = 1555][Question Description = §2_qgSNz_PG_HMS_QO05]
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| 1. 727 CM5 min / 727 30 /15 Bee

[Option ID = 6217]
2. 72" C/15sec / 72° 3o / 15 3ubs

[Option ID = 6218]
3. 727 C/30 min / 727 30 / 30 e

[Option ID = 6219]
4, 72° C/30sec / 727 3o / 30 A

[Option ID = 6220]

6) In order to pursue the research, which of the following is pre required?
oiter &t fBrdorean 3q , Praftfioa A 3 foadt sravaxrm gd A & axdt 3 7

[Question ID = 1556][Question Description = 52_qSNz_PG_HMS_Q06]
1. Developing a research design/feus s siféroey Brefinr woen

[Option ID = 6221]
2. Formulating a research question /o ol ra oa e e

[Option ID = 6222]
3. Deciding about the data analysis procedure /far Rieehaor wrififin o ard # fewfr Ao

[Option ID = $223]
4. Formulating a research hypothesis/ome oilel Ui¥Gege o6l B wis

[Option ID = 6224]

7) Any two immisicible liquid when mixed together form an :
s @iIF ol sifdropi=r qa we g Ry Row s & ar Holell &

[Question ID = 1557][Question Description = 52_qSNz_PG_HMS_Q07]
1. Aerosol /feerEiia

[Option ID = 6225]
2. Emulsion/sacser

[Option ID = 6226]
3. Gel/swm

[Option ID = 6227]
4. Sol/d=

[Option ID = 6228]

8) Symptoms of thiamin deficiency are:
A. Peripheral neuropathy

B. Photophobia

C. Cardiomegaly

D. Koilonychia

E. Tachycardia

Choose the correct answer from the options given below;
fernfier & oggoran & agwr 3

A, ufeefr dferer-fpta

B. gmeronfifi

C. v g1z @1 554 As1 ( ifSanAsicl )

D. siE mrasel 31 ( warsafBdden )

E. gaandt

ot e =10 Rraseal 3 31 78 30w gl :

[Question ID = 1558][Question Description = S2_qSNz_PG_HMS_QO08]
1. A,Band Donly/grm A, Baliz D

[Opticn ID = 6229]
2. C,Dand Eonly/@am C, DR E

[Option ID = 6230]
3. A, CandEonly/dmm A, Caliz E

[Opticn ID = 6231]
4, B,Dand Eonly/@aa B, D afiz E

[Option ID = 6232]
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9) Proteins present in milk are:
A. Lactalbumins

B. Lactoglobulins

C. Casein

D. Ovalbumin

E. Myosin

Choose the correct answer from the options given below:

ger 3 ufier gifla & @

A, Scorgliel

B. Gredcligfera

C. ofler

D, aliacrgier

E. aritie

i 2w s1w faascal 3f 2 718 302 gol ©

[Question ID = 1559][Question Description = $2_qSNz_PG_HMS_Q09]
1. A, Band C only/a@mm A, B iz C

[Option ID = 6233]
2. A, CandEonly/@am A, CaizE

[Option ID = 6234]
3. B,Cand Donly/&am B, C iz D

[Option ID = 6235]
4, C,DandEonly/@mma C, DA E

[Option ID = 6236]

10) ldentify the names of essential fatty acids:

A. Linoleic

B. Butyric

C. Linclenic

D. Myristic

E. Arachidonic

Choose the correct answer from the options given below:

HIYERE JA-HFa @ o & usarer o

A. Fellicrn

B. =piefxr
C. Reiciors

D. s
E. dufssifers
sk fon s1e Repedl 3 3t 78t 3o 9ol @

[Question ID = 1560][Question Description = 52_qSNz_PG_HMS_0Q10]
1. A, Cand D onlyf@am A, CaR D

[Option ID = 6237]
2. C,DandEonly/saa C, DAz E

[Option ID = 6238]
3. A,CandEonly/@am A, CaiE

[Option ID = 6239]
4, B, Dand Eonly/saar B, D 3fiz E

[Option ID = 6240]

11) Major symptoms of diabetes are ;

A. Polyuria
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B. Glossitis

C. Acidosis

D. Techycardia

E. Nocturia

Choose the correct answer from the options given below:
HggHE & Y= gl g

A. agIgen

B, forareirsr

C. AForEndl

D. fargeszar

E. srpdls

o e =1 Rraseal 3 31 78 309 9ol :

[Question ID = 1561][Question Description = S2_qSNz_PG_HMS_Q11]
1. A,Band Donly/grmm A, Bz D

[Opticn ID = 6241]
2. A,CandE only/@aa A, CHiz E

[Option ID = 6242]
3. A,BandEonly/drrT A, B3 E

[Opticn ID = 6243]
4, A,Cand D only/@aa A, Cafiz D

[Option ID = 6244)]

12) Match the food additives given in List | with their functions in List Il

List | List Il
Food additives Functions
A, Yeast |. Emulsifier
B. Soy lecithin Il. Antioxidant
C. Butylated hydroxyl toluene lll. Bleaching agent
D. Benzoyl peroxide IV. Preservative
E. Calcium sorbate V. Leavening

Choose the correct answer from the options given below:

I -1 3 e gu e widsh S e -1l 3 Re s orf 3t g@ifki Sift

et - et -1l

FEvEl TNl BRI

A. el |, arRiiss

B. wren &ffde Il. gftr sitashoses
C. =Igsda sEaifad Aol . fess

D. dsiwe Raacs IV, oz

E. dikorm Az V. Rovaor

aitar v =1e frweal & 7 =8 saw gfew

[Question ID = 1562][Question Description = 52_qSNz_PG_HMS_Q12]
1. A-Il,B-I1,C-1,D-IV,E-V¥

[Option ID = 6245]
2. AV,B-1,C-1,D-1IV,E -l

[Option ID = 6246]
3 AV,B-l,C-1,D-lI,E-IV

[Option ID = 6247]
4, A-V,B-1,C-1I,D- IV, E-lll

[Option ID = 6248]

13) Match biochemical tests in List | with nutritional deficiency disease in List Il

List | List Il
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Biochemical test Nutritional deficiency disease]
A, Serum albumin l. Vitamin A deficiency
B. Haemoglobin Il. Goitre
C. Urinary iedine Ill. Kwashirkar
D. Serum retinol I¥. Anaemia

Choose the correct answer from the options given below:

=it -| & Shamareniors giterm o daera Slear et & 3t -1l 21 geifem Hifers

et -| et -1l
SRR aiterr UIGWES Slolal 391

A, Sftzs Yegfion I, faeTtiroT © &t Ao

B. Sileciiiot Il. oS

C. Feh amddtor . Qétor-Aorar (Fraroliizsiz)
D. 2 Yeiiar IV, srepar

ofR o a1 famsedl & 21 w1l gaz gione ¢

[Question ID = 156 3][Question Description = §2_gSNz_PG_HMS_Q13]
1. AIV-,B-1,C-Il,D-N

[Option ID = 624%]
2, A-l1,B-1,C-ll,D-I¥

[Option ID = 6250]
3. A-IL,B-I,C-IV, Dl

[Option ID = 6251]
4. A-ll,B-IV,C-Il,D-l

[Option ID = 6252]

14) Match vitamins given in List | with their functions in List Il

List | List Il
Vitamins Functions
A. Yitamin B12 |. Protection of PUFA from oxidative damage
B. Vitamin A Il. Role in carbohydrate metabolism
C. Vitamin E lll. Role in formation of normal RBC
D. Thiamin IV. Integrity of epithelial tissues

Choose the correct answer from the options given below:

Il -1 3 e s1e faerieil @ 3gEd -1l 3F e s1e 3o @il 45 ATy Jhfera biism :

axeht -l oyedt =i

fererfaer BRI

A. Freddor &t 12 |. sitaierre aftr 3 O 9 0w @ wr Fdvsmr
B. faraifier © Il. wwrlErEe sumEr # Y

C. Rrefdm |l Fmare el =p @1 &l e d Yk
D. Rrafre IV, Judsell Sl &l sEsar

iy v s1e famseal #F 31 7t 3w giew

[Question ID = 1564][Question Description = $2_qSNz_PG_HMS_Q14]
1. A-ll,B-I¥,C-l,D-l

[Option ID = 6253]
2. A-IL,B-1,C-lIl,D-I¥

[Option ID = 6254]
3. A-lL, B, C, DY

[Option ID = 6255]
4. A-NL,B-IV,C-1,D-l

[Option ID = 6256]

15) Arrange the stages of new food product development:

A. |dea generation

prepp
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B. Product development
C. Screening

D. Commercialization.

E. Concept development

Choose the correct answer from the options given below
&Y el 3rurs fiep @ gl @ waiReaa o

A. Remicaca

B. srurc it

C. omrEia

D, semaariiern

E. dwcusn o

oifey o are fampeul 3 31 71t 3a ool @

[Question ID = 1565][Question Description = §2_gSNz_PG_HMS_Q15]
Vit DuBs E

[Option ID = 6257]
2. A, C,B,D,E

[Option ID = 6258]
3. A,C,E,B,D

[Option ID = 625%]
4, A, B, E,C,D

[Option ID = 6260]

16) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Calcium requirements during lactation are higher than during pregnancy.
Reason R: As lactating women lose bone mass during breast feeding because less estrogen hormone is produced.

In light of the above statements, choose the correct answer from the options given below

oflA &) weror Ru s1iw ¥ : v ol affraserar (A) 3iiv g o aaf (R) wa1 rn 3

sifdrcperer (A) @ Foorars B arafts 3 Sfeeraw B anaemayar simfazren &6 aafy A it sdt 3

aas (R) : wsisier smafor @y Fraigot o3ot Sl 5 aviRer Ferarel waot archt st # Faorarer &t araf?r # st gramire wa B soer 3
s et 4 aitcivs 3 Proifve Rioedl 3 A 18 vaz oot

[Question ID = 1566][Question Description = 52_qSNz_PG_HMS_Q16]
1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) o=t =2t £ 5z (R), (A) & ot =omen

[Option ID = 6261]
2. Both A and R are true but R is NOT the correct explanation of Af(A} 3z (R) el 3@t & usag (R), (A) &t 7 s=n ot 2

[Option ID = 6262]
3. Ads true but R is false/(A) =8t 3 worg (R) st =t &

[Option ID = 6263]
4. Ais false but R is true/(A) 7 ot & woog (R) 7@t &

[Option ID = 6264]

17) By mistake you have over blued your clothes, which of the following reagents you would use to rectify the fault?

TS TS WSt U St A S=2et oftar oen &= &, ot anu fsafei¥aa # 3 Rowr afderetes @1 su=ien smustl swordt ©f gemea & o wist ?

[Question ID = 1567][Question Description = 52_gSNz_PG_HMS_Q17]
1. Acetic acid/gfpe aweT

[Option ID = 6265]
2. Borax/gsmu

[Option ID = 6266]
3. Sodium chloride / S goiss
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[Option ID = 6267]
4. Qxalic acid/siwdittes oihe

[Option ID = 6268]

18) Which of the following apparel production systems is based on teamwork and shared responsibility for quantity and
quality of output?

froaferfiar # 3 wier a1 abvensr sraca goncht Su-wrl siiz semga & Ay sl sporam 3 A s av snenba & 7

[Question ID = 1568][Question Description = 52_qSNz_PG_HMS_Q18]
1. Progressive bundle system /it defirer gorcl

[Opticn ID = 6269]
2. Unit production system/soE rase gonet

[Option ID = 6270]
3. Modular production system/ gardtr souesr gomch

[Opticn ID = 6271]
4. Customized production system/sfem-aiianT sruca yonet

[Option ID = 6272]

19) Light fastness ratings are in the range of:
OEBIgl-E6l o g3-ferafzur &bt wilam &

[Question ID = 1569][Question Description = 52_qSNz_PG_HMS5_0Q19]
1. 1-5

[Option ID = 6273)
2. 1-6

[Option ID = 6274]
% 57

[Option ID = 6275]
4, 1-8

[Option ID = 6276]

20) Which of the following is a knit fabric that uses fine worsted yarns?

Torrmferfian 3f 2 ©iol Aéler Folt Ja > gET A goul g3 BUSI 3 7

[Question ID = 1570][Question Description = $2_qSNz_PG_HMS_Q20]
1. Inlay/asa

[Option ID = 6277]
2. Zephyr/amwsz

[Option ID = 6278]
3. Intarsia/fseefol

[Option ID = 6279]
4. Shaker/sedz

[Option ID = 6280]

21) For making a dress with kasuti embroidery, which of the following motifs will you use?

@Al werd 95 WY oo Mnw genel @ Rie, sma BrafaRan & O Bow sgfer oot 3o=ier w351 ?

[Question ID = 1571][Question Description = 52_qSNz_PG_HMS_Q21]
1. Gopuram /=igzH

[Option ID = 6281]
2. Tulsi ¥rindavan/gerit goras

[Option ID = 6282]
3. Nandi/=E

[Option ID = 6283]
4. Chokla/aean

[Option ID = 6284)]

22) Reactive dyes form the following bonds with the fiber:
sifsifpereliar 3omp 391 @ s mmfolRaa & e 2
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[Question ID = 1572][Question Description = S2_qSNz_PG_HMS_Q22]
1. lonic/ awittemm

[Option ID = 6285]
2. Hydrogen/zEsSEm

[Option ID = 6286]
3. Van-der-waals forces/fa-3z-woa @

[Optian ID = 6287]
4. Covalent f IzRiers

[Option ID = 6288)

23) Which of the following is not an advantage of plasma technology?

Rroifeia 3 A Siel dfiager elBrb! o anl o8 & ?

[Question ID = 1573][Question Description = §2_gSNz_PG_HMS_Q23]
1. Increases abrasion resistance / srein giREer a@mr &

[Option ID = 628%]
2. Increases dyeing speed/3mm-a1fT aorn 2

[Option ID = $290]
3. Assists bio-scouring /sioafimrstar 3 Jormm oz &

[Option ID = 6291]
4, Gives liquid repellency/ga gfrodo 2 £

[Option ID = 6292]

24) Shifting of darts from one place to other changes the:
A, Fit of the garment

B. Amount of dart control

C. Shape of the pattern

D. Design of the garment

Choose the correct answer from the options given below;

Ty T2I6T A I FAUTS U QA @1 T aiafia wemn B
A. af¥enst wr fise sten

B. greres foriqor &1 sn

. S0l T IR

D. afener wr sffrseq

il R 1w Rraseal 3 A 78 7e gol ©

[Question ID = 1574][Question Description = S2_qSNz_PG_HMS_Q24]
1. Aand Bonly/®ma A3 B

[Option ID = 6293]
2. BandConly /fsaa B sis C

[Option ID = 6294]
3. Cand Donlyfarrr C iz D

[Opticn ID = 6295]
4. Aand Donly/@ac Adtz D

[Option ID = 6296]

25) For making a dress for yourself in a plain-woven fabric, which of the following fabrics will you use?
A, Percale

B. Flannel

C. Burlap

D. Chino

E. Moleskin

Choose the correct answer from the options given below:

Oh HIE-gol 58 291 3 el e o dlone aam @ i, anu foreiferitana 4 3t Rear 391 1 Ju=iet wiat 7
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A. g¥se

B. worcis

C. axiu (e )

D. il

E. sicif¥wa

oifl fow oo Rrpeual 3 3 w18t Fme 9ol ¢

[Question ID = 1575][Question Description = 52_gSNz_PG_HMS_0Q25]
1. A, B, Conly/daa A, B, diz C

[Option ID = 6297]
2. B,C,D only/@a B, C, sizD

[Option ID = 6298]
3. C,D,Eonly/@ma C, D sz E

[Option ID = 6299]
4. A, B, Donly/daa A, B, sz D

[Option ID = 6300]

26) Which of the following factors favour fashion?
A, Advertising

B. Transportation and communication

C. Political Instability

D. Sumptuary laws

E. An economy of abundance

Choose the correct answer from the options given below:

forraifertiaa o1zl 3 31 Dol YEITE T Ugl o 2 ?
A, fasmas

B. ui¥aser sfiz ez

C. weeiiferas sf¥erzan

D. wrziiae-fieet

E. argea seicmazen

oftey v o1e Rraseal i A1 w8t sae gai ©

[Question ID = 1576][Question Description = S2_qSNz_PG_HMS_Q26]
1. A, B, Conly/dnmr A, Baliz C

[Option ID = 6301]
2. B, C, Donly/dua B, C sz D

[Option ID = 6302)
3. (,D,Eonly/amm C, D3z E

[Option ID = 6303]
4, A, B E only/oaa A, BERE

[Option ID = 6304]

27) Which of the following are examples of condensation polymer?
A. Acrylic

B. Modacrylic

C. Polyester

D. Nylon

Choose the correct answer from the options given below:
fosftifan d A @ia w1 Jaes agors © oI 3 ?

A, Ofgltrs

B. siisoRpfers

C, diffreez



www.prepp.in

D, srrcite
ofr fon a1e farscal 3 3 718t saz gl @

[Question ID = 1577][Question Description = §2_qgSNz_PG_HMS_Q27]
1. A, Bonly/Bam Az b

[Option ID = 6305]
2. B,Conly/dam Baz C

[Opticn ID = 6306]
3. C,Donlyf@aa C iz D

[Option ID = 6307]
4, A, Donly/aser Adiz D

[Option ID = 6308]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Overweight people look heavier in stiff fabrics.
Reason R: These fabrics stand away from the body creating an illusion of additional thickness.

In light of the above statements, choose the most appropriate answer from the options given below

oA & weror Ru s1iw ¥ :  ws ol afdraserar (A) 3iiv g o @af (R) wa1 97 3
sifreperst (A) @ aiffrs aster ad @1 o2 st J sdl Red §

aa (R) : 3 w3 orfly A & v § s sifelss ae oo s Gy o B

s wsersil 4 el 3 Proifva Rioedl 3 A 18 vaz 9ot

[Question ID = 1578][Question Description = 52_qSNz_PG_HMS_Q28]
1. Both A and R are correct and R is the correct explanation of A/({A) diiz (R) si=f =8 £ &iiz (R), (A) &t 38t =n=n 2

[Option ID = 6309]
2. Both A and R are incorrect/(A) afiz (R) St 2wt & uzeeg (R), (A) &I =i s ol 2

[Option ID = 6310]
3. Ais correct but R is not correct/(A) a8t 2 momg (R) =t =i &

[Option ID = 6311]
4. Ais not correct but R is correct/ {A) =it =it € woog (R) = &

[Option ID = 6312]

29) Match the hip types given in List | with their description given in List Il

List | IList I
Figure Types |Descriptiun
A, Ideal Type I. Curves diagonally outwards from waist to hip

B. Square shaped ll. Curves outward abruptly from waist and rounds sharply inwards
C. Heart Shaped lll. Curves outward gradually from waist and round over hip bone
D. Diamond Shaped ]IV. Curves outward abruptly from waist and falls straight to hips

Choose the correct answer from the options given below:

It -1 3 6w °1w @wral < goor @ I -] & e se e Rk A peifea Gifs

et - et -1l

ATDie &

BT

s |. waz A wee o fovla: as: & sl gsar 3

B. oot &I I, ®az 3 ralers sz &t iz goar 8 aiiz asil 3 sice & A
srresfer ilcT B Siner 3

C.zcadn . @ A iy gz Bt 3z g1 2 30k @ &t 53531 & IR
zﬁﬂ IV, Taz 31 e aiet e & A HE Tl oo Brear &

oY e ot famoddl & 9 28 sme g :

prepp
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[Question ID = 1579][Question Description = 52_qSNz_PG_HMS_Q29]
1. A-lIl,B-IVv,C-ll,D-1

[Opticn ID = 6313]
2. A-1,B-IV,C-I1,D-11

[Option ID = 6314]
3, A-NI,B-1,C-1,D-I

[Option ID = 6315]
4. A-IV,B-1,C-ll,D-1I

[Option ID = 6316]

30) Match the colour problems given in List | with their description given in List Il.

LIST | List Il
Colour problems Description
A, Frosting I. Weak areas in a fabric resulting from chemical damage
B. Tendering Il. Horizontal off shade band across fabric
C. Barre’ Ill. Same colour appears different under different light sources
D. Metamerism IV. Change of colour due to localized abrasive wear
V. Unintentional shade variation within a piece of fabric

Choose the correct answer from the options given below:

it | 9 RRw s1e do1 O marand @ el -1l 3 R s sord Rraver o wy 3 gaftra i ¢

it - | gt -l
o1 b AT ([daar
A. Sehazor | srarafere afty @ ayormeasa wa # aew &g

B. gt Il. g was A &ftrsr d3e1 aft
C. a . fifsres geprer Fidl & sig: adl 391 e R=E s
D. sramaaaar ||¥+ 6 Juads ugeld © SR 1 ST ivade

V. DU @ v gs D e i B fivseran

oY o ot fameddl A A 2l sme afn :

[Question ID = 1580][Question Description = 52_gSNz_PG_HMS_0Q30]
1. A-IV,B-1,C-Il,D-1I

[Option ID = 6317]
2.A-LB-V, C-1,D-11

[Option ID = 6318]
3. A-NLB-1L,C-1,D-¥

[Option ID = 6319]
4, A-IV,B-1,C-1,D-1l

[Option ID = 6320]

31) Give the correct sequence of cotton spinning system,
A, Drawing

B. Carding

C. Blending

D. Roving

E. Spinning

F. Picking

Choose the correct answer from the options given below

DUTH T guielt @1 7Et @
A, ot

B. FHeporai
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€. afdaoqor

D. smlcer

E. warz

F. wasson

ofla B =10 Repedl 3 3 318t 32 9ot ¢

[Question ID = 1581][Question Description = 52_gSNz_PG_HMS_0Q31]
1. A,B,D,E,C,F

[Option ID = 6321]
2. C,A, DB FE

[Option ID = 6322]
3. (,F,B,AD,E

[Option ID = 6323]
4. C,A,B,D,F,E

[Option ID = 6324]

32) Give the correct sequence of converting the waist dart of the bodice into two french darts.
A. Trace the front bodice

B. Locate the position and draw the lines for the number of French darts required

C. Cut on the French dart lines

D. Close the waist dart

E. Shorten the darts and connect the end of the dart lines to the apex

F. Draw the line for the French dart

G. Distribute the dart control equally

Choose the correct answer from the options given below

il B T o o o Gikef guae #d ufafia ow o 38 o 8

A, mrHer 6 Twll DI sl o

B, f3erfar o1 um oot iz smaeas GIRE yrre & dw & fie Y= #iky
C. wifift g Y@= uz o

D. @3z @ Y Dl 66 BT &

E. gracwi @) ol a5 31 greres 3z @ sia ot ofid 3 o

F. mifiszft graes o fore Jen =0

G. yraer Briger o A w9 A Rafsa o3

oA e s1¢ Rraseal # 31 78 30w gl :

[Question ID = 1582][Question Description = S2_qSNz_PG_HMS_Q32]
1. A,B,D,E, G, C,F

[Option ID = 6325]
2. C,A,D,B,FG,E

[Option ID = £326]
3, B,ADEFG,C

[Option ID = 6327]
4. A,F,B,E,C,D,G

[Option ID = 6328]

33) A comorbid means

HEHIl I Aol Sl 3

[Question ID = 1583][Question Description = 52_gSNz_PG_HMS_0Q33]
1. adisorder or cendition that may co-occur with another disorder or condition /e fampr = By ot Resdt sro Pz oo el & Joer & st 2

[Option ID = £329]
2. absence of diseases or medical conditions/3ei o Rifisrar <&t fefr b smmtted

[Option ID = $330]
3. a cognitive impairment can shorten lifespan/ow dsmemre sifft SmEre © Sier o7 Jaxd §
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[Option ID = 6331]
4. a condition can appear independently and have a detrimental effect on performance/ves Beriy saric 9 3 gese 2wl 2 3fiz gevisl 0z afeers gad =

0T 1
[Option ID = 6332]

34) A fifth-grade student with autism spectrum disorder (ASD) attends a general education class full time with support from
a special education teacher. Which of the following would be the most effective way for the Individualized Education
Program (IEP) team to integrate social skills training into the general academic curriculum for this student?

scAfHls vl forpr ( € oot 3t ) A o urrd i @1 Renedl o gty 10en Brere 6 Jeren A o Qiolfcre s9a o wsn A
freraet 751 8 dafio fo1e oriaa ( 2 £ U1 ) ga &g Fnfsae s YRigun o AEe dgifdre urgerasn 3 udblaa o & i
forraiferlRaa 3 31 srad guelt allor s mg @ Rie ota a@r 8 ?

[Question ID = 1584][Question Description = 52_qSNz_PG_HMS_0Q34]
1. Incorporate individual counseling services into the student's |EP. /Rl @5t { and £ dt ) & =ierer wagh 3 Ak o

[Option ID = 6333]
2. Establish clear expectations for appropriate classroom behavior, /3ftr wan-=man 9 fog 206 alisng Tt =3

[Option ID = 6334]
3. Assign the student a one-on-one aide to maodel appropriate behavior. /amrs =reEr o g o @ Be ReEnedt ot v @ e v gkt Brpr

[Option ID = 6335]
4. Include peer-to-peer supports in the general education class as part of the student's |EP. /REmef @& { aE 1t ) © a1 © =0 3 Zmare fS0e o= 3 oo et

3 A FEwl Of FeRR T ARACT DE
[Option ID = £336]

35) Ethological theory of attachment was proposed by
IRG @ IARkEmE-Rirgi Jeafad Ko sk ar:

[Question ID = 1585][Question Description = §2_gSNz_PG_HMS_Q35]
1. Jean Piaget /e farmsr

[Option ID = 6337]
2. Pavlov/armirr

[Option ID = 6338]
3. Erik Erikson/ ey vhaem

[Option ID = £339]
4, Bowlby/dict

[Option ID = 6340]

36) A special education teacher is participating in a three-year reevaluation of a high school student with an intellectual
disability. As part of an assessment, the teacher accompanies the student to a store and asks the student to locate and
purchase an item, This is an example of which of the following types of assessments?

v ferg [9rem foreres wor ooa ReEncm & i onorsar ar Renelf @ wimer dier ara @ Yogiceiicoel 3 o1 o 761 8 Foaihel © U 9P &
w=q 3, 1d1grr oy o v sosR-aE H O s 8 i o o v asg & Rafer o gar aen6t iz apr wel © ore wesm 3 us Beaftflaa d A

Row bR @ ARG DI U 36630 & 7

[Question ID = 1586][Question Description = §2_gSNz_PG_HMS_Q36]
1. Ecological /ot

[Option ID = 6341]
2. Portfolio/ wqzmm

[Opticn ID = 6342]
3. Authentic/ xRt

[Option ID = £343)
4. Interview/mEnrsE

[Option ID = 6344)]

37) One of the reasons for using drugs by the Adolescents is

fepolizt Zrer sfiaer &1 JaAsT @30l ©f Th BI0T &

[Question ID = 1587][Question Description = $2_qSNz_PG_HMS_Q37]
1. Pleasurable feelings/amicars snmemd

[Option ID = 6345]
2. Thrill of doing semething illegal/@m e o=t o JAE
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[Option ID = 6346]
Parental Pressure/amn-far o sog

[Option ID = 6347]
Escape from everyday life/3frp Siaer 3 uerer

[Option ID = 6348]

38) Compared to younger adults, middle aged adults who lose their jobs:

Tar azrrt @t goran H, Aeaw g asl O gave S aael sisd = 3a E

[Question ID = 1588][Question Description = 52_qSNz_PG_HMS5_Q38]

T

Tend to stay unemployed longer and have fewer opportunities for gratifying work as they age/ affrr T o Sere =6 @ B o= & abms 26 £ de
JORD WA 3 w0l W AR 1 Aitoarrr o o e ww arrez aa

[Option ID = 6349]
Tend to find jobs guickly because of their skills but find it difficult to stay employed. /sa wlgrer @ @ digen e e o @ ffm 2 6 st gk
# , Ciffoal 3ot aiimssl 31 99l 3600 Tioa PR &

[Option ID = £350]
Find it difficult to get new jobs, but once employed have a stable work history/ = siwlhsxn grr wer wider terr 2, Afkra wr az Brifie 39 © e e
Aot o er-oort o s 2ar 8

[Option ID = 6351]
Are less likely to become depressed , which makes it easier for them to obtain employment/zmer St <5 e T4 2kt 2, Ber o7t Bw e g e

1 I 1 e R 1151 S

[Option ID = 6352]

39) What is the focus of younger preschoolers and older preschoolers respectively when they indulge in play?

aioy oef-Rrenceita Rrenflel sz guer gd-Renaeer Reni?ka @ coer o 3 g v M i sm A RAa AR AT F ?

[Question ID = 1589][Question Description = 52_qSNz_PG_HMS_0Q39]

1.

Shared activities; trust and shared interest/asT ot o6 siviulEa fram de @m0 56

[Option ID = 6353]
Trust and shared interest; Shared activities /s frary sfiv men =f | Jm=n & o afafafiel

[Option ID = 6354]

. Parallel play; Solitary play/=aiR FI; ool sem

[Option ID = 6355]
Communicative play; nonverbal play/ et e doisos A

[Option ID = 6356]

40) One of the reading readiness skills is the development of comprehension that includes

A. Ability to arrange a picture story with events in the correct sequence

B. Ability to tell some personal experience

C. Ability to write his or her name

D. Ability to answer questions about a story which has been read and tell it in simple words

Choose the correct answer from the options given below:

Uoal- i aHII-®BI9c A 3 v 3= ol oo § faadd afdaka &

A, el & e o Fgoeen &t 73é o A wrafiad ool & gl
B. ©o caiftbola aopa acilel o gt

C. e o1 ferstey &1 sraran

D. wwe oreg! 3 Ut siiz ol orfl v o uz smenfra geoll & Ime ol ol g
i 2w s1w faaseal 3f 2 718 302 9ol ©

[Question ID = 1590][Question Description = $2_qSNz_PG_HMS_Q40]

1.

A, B, Cand Donly/d@aa A, B, C 4z D

[Option ID = 6357]
B, Cand D Only/@a= B, C iz D

[Option ID = 6358]

. A, Band D Only/@a= A, B3 D

[Option ID = 6359]
B, Cand A Only/®== B, C sfiz A
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[Option ID = 6360]

41) Egocentric thoughts can involve

A. The lack of awareness that others see things from a different physical perspective

B. The inability to present their own perspectives to others

C. Failure to realize that others may hold thoughts, feelings, and points of view that differ from theirs.
D. Being intentionally selfish and inconsiderate

Choose the correct answer from the options given below:

sygfea ot # afakRa 8 ama &

A. SErEEar S oH i gk v el Hiifae afega A disi 2ma &

B. gael & fere arael 3 & ufegar gagea oot &t arzraelar

C. 2uepE @0l &I 3w & arow e off IoRl el faant, sugensit sz eftesiun @1 3 A 2
D. SirorgzrnT Farefl iz afaeebt 2on

i 2w a1 faascal 3f 2 718 302 9ol ©

[Question 1D = 1591][Question Description = $2_gSNz_PG_HMS_Q41]
1. Aand Bonly/@am Aslis B

[Option ID = 6361]
2. Aand Conly/mamAdiz C

[Option ID = 6362]
3. BandC only/@ae B 4z C

[Option ID = 6363]
4, Band Donly/sa=a B =D

[Option ID = 6364]

42) The major principles that govern growth are
A. Cephalocaudal Principle

B. Proximodistal Principle

C. Principle of Hierarchical Integration

D. Principle of the independence of systems

Choose the correct answer from the options given below:
Hgfy @ foriftm o am g fhgia &

A. Srochdssa Brgia
B. Qrfiafesca Bigia

C. 9pflag udtezur @ Bigia

D. gunferit & Fadiar o Bigid
i 2w a1 faascal 3f 2 718 302 9ol ©

[Question ID = 1592][Question Description = $2_qSNz_PG_HMS_Q42]
1. A,B,Cand Donly/dmma A, B, Cdlz D

[Option ID = 6365]
2. A,Band Conly/@am A, B, si= C

[Option ID = 6366]
3. AandBonly/@am A B

[Option ID = 6367]
4, Cand Donly/wwa C &z D

[Option ID = 6368]

43) Which type of speech is used in the example: Like other 2-year-olds, Arjun can say, “Ma bye, bye” and “ ball broken.”

-
¥

Which type of speech is used in the example: When 9-month-old Radha’s mother talks to her, she uses short, simple
sentences, repetitive words, and higher pitches.
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A. Holophrastic
B. Telegraphic
C. Interpretive

D. Infant-directed

Choose the correct answer from the options given below:

Fesor A s gor &t siar wr geitsr Bear siar 3 srowr o ad © wl O avws |, sfor ww wowa 3, Varare , gra U A Sic et i

prepp
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3e1Eevl # Rre gepre &bt sirar @o1 gRieT fsar s 3: S| &l #idter bt wen Bt #f 33et ang wudl 8, 9l 9 81, de arRdl, IgiRees geal Al
Fod FAAART DI YIET Bt

A, somwmfics
B, ar
C. FIERIIcHD

D. farg - forgfom

ofia 2w s1w faascal 3f 2 718 3me 9ol ©

[Question ID = 1593][Question Description = $2_qSNz_PG_HMS_Q43]
1. Aand D Only/daa A iz D

[Option ID = 6369]

2. Aand COnly/ug Asiz C

[Option ID = 6370]

3. Band C Only/aaw B 3fiz C

[Option ID = 6371]

4, Band D Only/aaet B 4z D

[Option ID = 6372]

44) Match List | with List Il

List-l and List-ll contain Basic Virtue and Erikson’s Psychosocial stages respectively

List | IList I

(Basic Virtue) |(Erikson’s Psychosocial stages)
A. Hope |I. Autonomy vs. Shame

B. Will I, Initiative vs. Guilt

C. Purpose (Il Trust vs. Mistrust

D. Competency

|IV. Identity vs. Role Confusion

E. Fidelity

V. Industry vs. Inferiority

Choose the correct answer from the options given below;

et -1 ot et -1l 3 ghfer iR

edl- | sz 3ehl- 1l & oo Jpen apo7 aiiz uirosior & selammisrs azer snfdrer &

e | et -1l

T 30T olsere @ ARG vl
A. 3T Il e e ol

B. seot I, orer wemm aramrer

C. 3tea 1. Revarss woma afwar
D. wimresd |Iv.maaamgﬁasr%gr
E. fror V. Seiter o Sl

oY R ot fameddl A A 2l sme b :

[Question ID = 1594][Question Description = 52_qSNz_PG_HMS_Q44]
1. A-NLB-L,C-1,D-V,E- IV

[Option ID = 6373)

2, A-LB-ULC-U,D-V,E-IV
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[Option ID = 6374]
3.A-ILB-1L,C-U,D-IV,E-V¥

[Option ID = 6375]
4, A-N,B-N,C-1,D-IV,E-V

[Option ID = 6376]

43) Match List | with List Il

List-l and List-ll contain the description of prenatal development and their labels respectively

List | List Il
(description of prenatal development) (labels)
A, This stage lasts from 8 weeks until birth and |. Embryonic

involves the differentiation of major organs

B. From 2 to 8 weeks following fertilization, when the [ll. Germinal
major organs and basic anatomy begin developing

C. The first and shortest stage, where the zygote lll. Fetal
begins to divide and grow in complexity during the first
2 weeks following conception

Choose the correct answer from the options given below:

it -1 B 3t -1l @ AR iR

-1 afiz gt -1l 3 Gaor: soa & g [aoera oo Raew 3z geat sifdeas 2 @

= - peigl
aled B gd R @ e SRBID
A. TE TI0T A0 WA A Slod b I8 & 3tz sl g il @1 I, yiter
Rsigpanr wifdafoa 8
B. forfiem! @ a1G <1 3 30 WA o, 919 YIA 3091 iz giormel eriiz I
it vaen Ry 61 oo §
C.mmmﬂam,aﬁwm%muﬁaaﬂmm

et sty & sfta sa # Rl iy RioBra San grist o §

oftdr v oo Rrseal 3 7 =8t Iz g

[Question ID = 1595][Question Description = S2_qSNz_PG_HMS_Q45]
1. A-LB-ULC-1

[Option ID = 6377]
2. A-NL,B-1,C-1

[Option ID = 6378]
3, A-1,B-1,C-

[Option ID = 6379]
4. A-1L,B-1,C-1

[Option ID = 6380]

46) Arrange the four phases of Adult Development as given by Cohen in sequence
A, Encore

B. Liberation

C. Midlife Re-evaluation

D. Summing Up

Choose the correct answer from the options given below

Wigd g B o1 e R @ ar gwvil o! guilag ok

A, Jor: got: ( SoDR )
B. fagfts

C. silaemiza Yadcaidoel
D. FHamwr
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aitar v o1e frwseai A A wft s gdi ¢
[Question ID = 1596][Question Description = S2_qSNz_PG_HMS_Q46]
T B
[Option ID = 6381]
2. B,D, A, C
[Option ID = 6382]
3, A,B,D, C
[Option ID = 6383]
4, C,B, D, A

[Option ID = 6384)]
47} According to Lawrence Kohlberg's theory, the development of moral reasoning takes place in six stages. Arrange these
stages in sequence:
A. Universal Ethical principles
B. Authority and maintaining social order
C. Interpersonal Accord and Conformity
D. Social Contract
E. Self-interest
F. Obedience and Punishment
Choose the correct answer from the options given below

dia waast @ Bigia @ sopane, siftrs afoa o fiora os awil A8k & o1 @il ot deflag Hifcm .

A. wdeamaw smRenTfy Rigia

B. siftresrs oiiv wenfrr wraver o gony 6N
C. arraiye wagia iz sesaa

D. WEIRKD 3wIEe

E. smmaiiza

F. smsmpif¥a 3fiz &5

oifl fow oo Rrpoul 3 3 w18t Fme 9ol

[Question ID = 1597][Question Description = 52_gSNz_PG_HMS_0Q47]
1. A,B,C,D,E, F

[Option ID = 6385]
2. B,D, A, F,E,C

[Option ID = 6386]
3. F,E,C,B,D,A

[Option ID = 6387]
4. C,B,D,E,F,A

[Option ID = 6388]

48) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A; Communication serves to construct as well as reflect family relationships.

Reason R: Family member spend so much time with each other, they use and understand communication shortcuts and
idiosyncrasies that may elude an outsider.

In light of the above statements, choose the correct answer from the options given below

oflA &) weror Ru s1w ¥ 1 wes ol affraserar (A) 3iiv g o aaf (R) wa1 rn 3

sifsreserat (A) @ Fxne Brfor @& srer-wrer miyafye ddei ot g o o orl o 3

o (R) : ubfsiR @ #A63<1 -5 @ A Sooll 39K [aan 3, d Jar & 3o AEl  3iiv FAdeor-ai9es @l FURIST W & 312 Sl o dised salkp
B HAR 03 el B2 3 2 Ts B 1

e werEl @ il # foeaifien Reedl 3 2 w1t 37z got |

[Question ID = 1598][Question Description = §2_qgSNz_PG_HMS_Q48]
1. Both A and R are true and R is the correct explanation of A/(A) iz (R) el 3t 2 iz (R), (A) & 2 =r==n &
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[Option ID = 6389]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} &= (R) 3ol 52 & usseg (R), (A) & =&t == =gt 8

[Option ID = 6290]
3. Afs true but R is false/(A) ==t 2 wemg (R) =2t ot £

[Option ID = 6391]
4. Ais false but R is true/(A) 7 o1t & ooy (R) 7@t &

[Option ID = 6392]

49) Muster rolls are prepared under the programme-
sliacil o5 orRigH & dea dar [kew wr & ?

[Question ID = 1599][Question Description = §2_qgSNz_PG_HMS_Q49]
1. SGSY/wa it vw ad

[Option ID = £393)
2. MDM/ ot ex

[Option ID = 6394]
3. NHM/wo sa o

[Option ID = £395]
4, MGNREGA/#mten

[Option ID = 6396]

50) Which one of the following is not a component of the services offered under ICD5?
Torraifertiant 3 21 otol =1 A 2 3t v & dga yeral &Y JAte! arcll Aansil &l ud e oidl 3 7

[Question ID = 1600][Question Description = $2_qSNz_PG_HMS_Q50]
1. Immunization/gférzsmn

[Opticn ID = 6397]
2. Referral Services/zmm Jam

[Option ID = 6398]
3. Formal Education . sfiooiys faan

[Option ID = 6399]
4, Supplementary Nutrition/segzas g

[Option ID = 6400]

51) Licence to operate Community Radio stations is granted by-

AWGIRRG 330 Foml @1 Fafer wee & e smmft yere 6 swdt 3-

[Question ID = 1601][Question Description = 52_qgSNz_PG_HMS_0Q51]
1. State Governments/ = Iw0= T

[Option ID = 6401]
2. Ministry of information and Broadcasting/szen iz gamm dqges g

[Option ID = 6402]
3. Prasar Bharti Corporation/wsmz siil Bem grr

[Option ID = 6403]
4. Department of Telecommunications/gzsicns fawer g

[Option ID = 6404]

52) International Literacy day is celebrated on -

MAzrecta ATl as Aol AIdan 8 -

[Question ID = 1602][Question Description = §2_gSNz_PG_HMS_Q52]
1. 8th March/8 a=t

[Option ID = 6405]
2. 8th May/8 =

[Opticn ID = 6406]
3. Bth September/8 Rrdaz

[Option ID = 6407]
4, Bth November/8 smir

[Option ID = 6408]

53) PCPNDT Act was enacted to prevent
dt ZH ot wer & & afficrra o I @ oo affierfim e s om;
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[Question ID = 1603][Question Description = 52_qSNz_PG_HMS_Q53]

1. Child Labour/arw g

[Option ID = 6409]
2. Sex Selective Abortions/ s -cerEras waiga

[Option ID = 6410]
3. Domestic Violence/miwy B

[Opticn ID = 6411]
4. Dowry/ega

[Option ID = 6412]

54) The process of assessing the progress of a project based on pre-determined indicators of the programme is called-
orioH @ yd ol sidaot az anenfaa ufiRicon &t geiii oI Jeaicde Tl @ YA DI Sal Skl 3-

[Question ID = 1604][Question Description = $2_qSNz_PG_HMS_Q54]

1. Feedback/gfégls [Option 10 = 6413]

2. Feed Forward/sm@Eisa giee [Option ID = 6414]
3. Monitoring/amgeiamn [Option ID = 6415]

4. Planning/dmmr [Option (D = 6416]

55) Which of the following features can be studied through 'Mapping' while conducting PLAs?
ol gar ¢ o1 Hare T waa | el | @ meaa d fBrefiBaa Rifdrcanit # A o o seans Bar sn awar 3 ?

[Question ID = 1605][Question Description = S2_qSNz_PG_HMS_Q55]

1. Natural Resources/urpfinr samm

[Option ID = 6417]
2. Priority Patterns/qridrsa giiea

[Option ID = 6418]
3. Conflict Resolutions/sHud Brrof

[Opticn ID = 6419]
4. Problem Solving /eI FEmmm

[Option 1D = 6420]

56) Common elements between BCC and Advocacy are -
A. Both rely on persuasion technigues

B. Both seek to bring in behaviour change

C. Both need stretegic planning

D. Both use only intrapersonal communication

E. Both can work only with people at the grassroots
Choose the correct answer from the options given below:

= FH H afiz ver-waels o da mmma aa E -

A, 216l grarma gfaff uz frarer ool 2

B. 2ieil =aer uf¥ara aiel &t #ieT & &

C. S5l ® Srichier-<diaen & smagamar &

D. Q6! axaa siadales dar o1 YRieT I &

E. Sl @ad ol cafibel @ ATl O BT HDA &
i 2w s1w faaseal 3f 2 718 302 9ol ©

[Question ID = 1606][Question Description = $2_qSNz_PG_HMS_Q56]

1. B,Cand Eonly/s&zar B, C 3z E

[Option ID = 6421]
2. A, Band Conly/@am A, B aiz C

[Option ID = 6422]
3. C,DandE only/dms C, Dafis E

[Option ID = 6423]
4, A, CandEonly/@me A, C iz E

[Option ID = £424]

57) Which of the following can be used for outdoor publicity?

prepp
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A. Flash Cards

B. Bill Boards

C. Kiosks

D. Banners

E. Flip Charts

Choose the correct answer from the options given below:

Rorateilaa & 31 ©ia w1 are gar @ ke gRier Ren sn wwoan 2-

A. el o8

B. R=muet uz

C. 7prc

D. ggu

E. firema aré

oifey o are fampeul 3 31 71t 3a ool @

[Question ID = 1607][Question Description = §2_qgSNz_PG_HMS_Q57]
1. A, Band C only/dsaa A, Bafiz C

[Option ID = 6425]
2. B,Cand Donly/dmm B, Cafiz D

[Opticn ID = 6426]
. C,Dand Eonly/@aa C, DR E

[Option ID = 6427]
4, A, CandEonly/@mm A, Cain E

[Option ID = 6428]

58) The communication process is always-

A, Systematic

B. Transactional

C. Universal

D. Functional

E. Interactional

Choose the correct answer from the options given below:

e gftgen sden Bt ¥ -

A. Frratiem

B. dwraslnr

C. arbiifirr

D. gwricas

E. siafgarcarc

ofta e =1 Rraseal 3 31 78t 30w gl :

[Question ID = 1608][Question Description = 52_qSNz_PG_HMS_Q58]
1. A,Band Conly/@a= A, Baie C

[Option ID = 6429]
2. A, Cand D only/dsaer A, C sz D

[Option ID = 6430]
3, B, Cand D only/awwT B, C siiz D

[Option ID = 6431]
4., A, Cand E onlyfa@&am A, Cai E

[Option ID = 6432]

59) The major functions of KVKs in Extension are-
A. Organizing vocational training for rural youth

B. Organizing training for farmers
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C. Providing loans to farmers

D. Providing labour for farming activities

E. Conducting research for new farming technologies
Choose the correct answer from the options given below:

a¥casl d & & & D yygm orf E-

A, sqEiur Fanall & fore sraaiRce gidigoT o1 Arisor
B. fepamall @ fere gforsiun o1 airsiol

C. fepmeil @l SR Jucetl HIGIT

D. ¢t @ ol & 19 931 gRTal ol

E. o 2l Gienf3iiep=ii o5 fére arqriemer ol FHarelol
ofia 2w s1w faascal 3f 2 718 3me 9ol ©

[Question ID = 1609][Question Description = $2_qSNz_PG_HMS_Q59]
1. A,Band C only/a@mm A, B afiz C

[Option ID = 6433]
2. A,Band Donly/@am A, B aiz D

[Option ID = 6434]
3. A,Band Eonly/a@=a A, B sic E

[Option ID = 6435]
4, B, Cand D only/@w= B, C 4z D

[Option ID = 6436]

60) Match List | with List [l

List | List Il
Theories of Mass Communication [Characteristic features of theories
A. Authoritarian Theory Il. Media assist in the growth of society|

B. Liberatarian Theory Il. Media are responsible

C. Social Responsibility Theory |III. Media are free

D. Development media Theory [IV. Media are controlled

V. Media are agents of government

Choose the correct answer from the options given below:

3elt - Bt et -1l 31 ydfera difsre

et - gt -l
elsanr © Brgia [Rigidl i faldree ferdraand
A. T Rigia . Fmarer s st @ Rreore 3 wsrm wel §

B. Tacacinmd figia 1, wroreet e sscrRt 3
C. Irbnr iR
Rigia

D. Rrora fifeen Brgin IV, worea SR Breifye 3

V., I AR meen & afireal E

(I, Favz aftfaan zaeg 8

iy v s1e famseal #F 31 7t 3w giew

[Question ID = 1610][Question Description = $2_qSNz_PG_HMS_Q60]
Foabes WoBedll € otV By

[Option ID = 6437]
2. A-LB-N,C-1IV,D-¥

[Option ID = 6438]
3 AW BANL AL DS

[Option ID = 643%]
4, A-V,B-ULC-1,D-1

[Option ID = 6440]

61) Match List | with List [l

- |List | IList 1
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Adopter categories [Estimated distribution in population
A. Innovators I. 13.5%
B. Early Adopters [Il. 2.5%
C. Early Majority |III. 16%
D. Laggards Iv. 34%
V. 44%

Choose the correct answer from the options given below:

IR -1 @ et -1l A AR Hif

ot -| ot -l
Cridoidl  Hast AclsI # andblera faerzm
A. T l. 13.5%
B. arrel camapdt . 2.5%
C. qrRBI wEwar ., 16%
D. aznfr iy IV. 34%

V. 44%

of o a1 el & 21 w1l saz gieng |

[Question ID = 1611][Question Description = §2_gSNz_PG_HMS_Q61]
1. A-ILB-I¥,C-¥,D-1

[Option ID = 6441]
2. A-ILB-1L,C-1V,D-11

[Option ID = 6442]
3. A-NL,B-1,C-1,D-V

[Option ID = £443)
4, A-II,B-IV,C-1I,D-¥

[Option ID = 6444]

62) Arrange the following terms in the increasing order of complexity as per the Bloom’s Taxonomy of Objectives
A. Creating

B. Applying

C. Understanding

D. Evaluating

E. Analysing

Choose the correct answer from the options given below

fBroaferfion agi @t 329l @ squr-asiisyv-fsra 45 e siitorar @5 aed w3 wrafem o

A, FI6I el

B. aney avseir

C. FasEr

D. Fearosi wen

E. Rreduer ween

oiia fon o1e fRrpodl 3 A 78l s Al ¢

[Question ID = 1612][Question Description = 52_qSNz_PG_HMS_Q62]
1. A, C,D,E, B

[Option ID = 6445]
2. B,D,E, A, C

[Option ID = 6446]
3. C,B,E,D,A

[Option ID = 6447]
4. D,E B, C, A

[Option ID = 6448]

63) Arrange the steps of Programme planninmg in a sequential order

A, |dentify the Problem
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B. Analyse Situation

C. Collection of facts

D. Develop a plan of work

E. Decide on the objectives

Choose the correct answer from the options given below

DRI SOl W TR B gD ovil # wraiiem o

L]

A. i @&t ugTa

B. ufsBerfer w1 frdgur

C. meai @ FsEm

D. wrl i v Adlsen forela o3

E. 3ot o= ol o

oifer o are fomseul 3 31 78t 3ae 9ol @

[Question ID = 1613][Question Description = §2_gSNz_PG_HMS_Q63]
1. A,B, C,D,E

[Option ID = 6£449]
2. B,C,D,E A

[Option ID = 6450]
3. C,B,AED

[Option ID = 6451]
4. 0,B,C, A E

[Option ID = 6452]

64) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Strategy for behaviour change must include providing communication that might trigger individuals to make
decisions.

Reason R: Internal and external factors may serve as cues to action.
In light of the above statements, choose the most appropriate answer from the options given below

oildl €l werel [Bu 21w 3 : wep ol sifdeperer (A) 3fi7 g3 @t aab (R) war sren 3

sifirmeet (A) : =aeR ulyade 3q orib d Jar yem oo smaya Afdaien dten @iige si caftedl @ ol oot @ R Bz Rpgnela o=
Haoem &

aa® (R) : iatss iz aE Sd DrarE © JHdd @ =0 H BEl B2 DA &
IRivh el & e 3 foraifiea fameal 3 2 718 3uz 9ol ©

[Question 1D = 1614][Question Description = $2_gSNz_PG_HMS_Q64]
1. Both A and R are correct and R is the correct explanation of A/{A) dfis (R) S =t £ 4z (R), (A) & =t ooen 2

[Option ID = 6453]
2. Both A and R are correct but R is HOT the correct explanation of A/{A) & (R) 3= =@ & wsmg (R), (A) D 58 = ot £

[Option ID = 6454]
3. Ajis correct but R is not correct/(A) 3t & qweg (R) o &= £

[Option ID = 6455]
4, Ais not correct but R is correct/ (A) =8t off 2 womg (R) =24 &

[Option ID = 6454]

65) Which one of the following is NOT the characteristic of scientific research?

fBroaferfiaea # A wier a1 Senfras srepicnsr @t Rrovaar ot & 7

[Question ID = 1615][Question Description = 52_qSNz_PG_HMS_Q65]
1. Precisionfufegm

[Option ID = 6457]
2. Objectivity/asgfewaar

[Option ID = 6458]
3. Systematisation/g=rfiersam

[Option ID = 4459]
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| 4. Speculation/agHE #r

[Option ID = 6460]

66) Identify the pure research problem from the following,

forgmieian 31 31 faerg ond wAT &l Uedlel:

[Question 1D = 1616][Question Description = $2_gSNz_PG_HMS_Q66]

F:

Yocational interests of adolescent girls/ ey & saeanEes iZ2a

[Option ID = 6461]

. Role of ICT’s in empowering rural women /=i aftcmsi © asfooen # i 2 &t 5 sl

[Option ID = 6462]
Estimating time and energy consumption in use of solar cooker /=i o303 o g2 3 AR A3 Teaf & FaNlsT o S

[Option ID = 6463]
Entrepreneurial activities of rural woman/sqeior sifder & szpl aftfifieT

[Option ID = &464]

67) The crucial weakness encountered in laboratory experiment is

geieTemen # geilet axer @ waa A Fren O s frofers s §:

[Question ID = 1617][Question Description = 52_qSNz_PG_HMS_Q67]

1.

Control /e

[Option ID = 6465]
Manipulation/aixocas

[Option ID = 6466)

. Accuracy/ o

[Option ID = 84567
Time /3w

[Option ID = 6468]

68) The parametric tests are used when -

grafers wiamwi @1 Fu=ie1 da R siar 8 5= -

[Question ID = 1618][Question Description = 52_qSNz_PG_HMS_Q68]

1.

Yariables are qualitative /<3 spourae &

[Option ID = £46%]
Distribution is normal/Brev apnsr

[Option ID = 6470]

. Data is skewed /o Foxm &t

[Option ID = 6471]
Observations are independent /Ugror oo 8

[Option ID = 6472]

69) Which data collection tool is appropriate for the study of job satisfaction of KVK professionals ?

' 4t &' caraRiet &Y sliwdt @Y Fgitc uT seaee & e Sis 31 o H91E U@ JuED 8 7

[Question ID = 1619][Question Description = $2_qSNz_PG_HMS_Q69]

1.

[nterview/ JsmresE

[Option ID = 6473]

. Aptitude Test/afizma aftsmr

[Option ID = 6474]

. Questionnaire /gupee

[Option ID = 6475]
Interest inventories/ sfEmskr g=it

[Opticn ID = 6476]

70) The advantages of using probability sampling are

A. Perfect control on extraneous variables

B. Convenient when sample is very small

C. Absense of sampling biasness

D. Lesser degree of judgement

prepp
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E. Faster and cost effective
Choose the correct answer from the options given below:

Frae Yiesel w1 gRIleT el T B o 3

A. arE @3t wT wdt Briger

B. Hitemsers s gitcel aga siar 2
C. yiveeler yateg &1 srequiata

D. Bl &t sy git

E. digaz sfiz ufvera gurit

oifl fow oo Rrpeual 3 3 #E8t 70w 9ol @

[Question ID = 1620][Question Description = 52_qSNz_PG_HMS_Q70]
1. A, Cand D only/daa A, Caim D

[Option 1D = 6477)
2. B,DandEonly/gmm B, Daliz E

[Option ID = 6478]
3. A,DandEonly/@aa A, Daic E

[Option ID = 6479%]
4, C,DandEonly/saa C, DA E

[Option ID = 6480]

71) Match List | with List [l

List | List Il

Variables Characteristics

A. Experimental |l. Cannot be altered by researcher

B. Organismic ‘II. Uncontrolled but have significant effect on dependent variable

C. Assigned ll. Manipulated

D. Dependent IV, Measurable, can’t be manipulated

V. Is the presumed cause of dependent variable
Choose the correct answer from the options given below:

et -1 ot el -1l 3 ghfer i

st - =i -l
Ei b3 fagiaan
A. gRIBrr ||, sitrpal SR ol Scor o JW@ar 3
B. Siftres I, aferifey aiftser a3 a2 Uz Aecagul gurg asar 3

C. spaftfa  |lll. oo

D. sufdgr IV, uf¥drr , ufrenfery @@l fsan =i wosar 2
V., i = &1 sigpiord BeuT 2

o e s1e Rraseal o 31 718t saw gfee

[Question ID = 1621][Question Description = 52_qSNz_PG_HMS_Q71]
1. A-I,B-1,C-1¥,D -1l

[Option ID = 6481]
2. A-IV,B-V,C-NIl,D-1

[Option ID = 6482)
3A-YV,B-NLC-IL,D-1¥

[Option ID = 6483]
4. A-W,B-1,C-V,D-V

[Option ID = 6484)]

72) The sequential steps of constructing Thurstone Equal Appearing Interval attitude scale are -
A. Collection and Editing of items

B. Calculating Scale and Q values

C. Finalization of items

D. Sorting items on different continuum

E. Administration

Choose the correct answer from the options given below
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'e[3col sadad AdatieT socraa Al A @ orain & geiine awr -
A, azaii @1 FHsgE i duea

B. araeit sfiz o= w6l bt smren

C. azgail @l sifes = Zar

D. Rifffost ArTrT Uz oy e

E. gerzral

i 2w s10 faascal 3f 2 718 302 gol ©

[Question 1D = 1622][Question Description = $2_gSNz_PG_HMS_Q72]
1. A, C, D, E

[Option ID = 6485]
2. A,D,B,C

[Option ID = 6486]
3608, DB

[Option ID = 6487]
4. 0,B, C,E

[Option ID = £488]

73) What is the correct sequence of statistical analysis of data?
A. Gathering

B. Analysing

€. Organizing

D. Interpreting

Choose the correct answer from the options given below

Jicp3l @ Ailkcaeb a1 J8 s @ 37

A. Fegul
B. Rreciuur
C. arism
D. sarm
ol f8u o1e Repoul A 31 718t 30 ool ¢

[Question ID = 1623][Question Description = 52_qgSNz_PG_HMS_0Q73]
1. B,A,C,D

[Option ID = £48%]
2. A, C,B,D

[Option ID = 6490]
3. A,B,D,C

[Option ID = 6491]
4. C,A B, D

[Option ID = 492]

74) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Statistics is the servant (not master) of logic rather than an end of research.
Reason R: Careful collection and logical analysis of data contributes more to the search of truth than statistics.

In light of the above statements, choose the correct answer from the options given below

il 3 Dol Ru s B ;. wes ool sfirserar (A) afiz gzt of o (R) o5e1 arm 3

atfircserer (A) ; Fifierbt |, ofter & aifers ufrofar & aer aas @1 g ( Tand of ) 8

aas (R) : oa @1 waemiigds s dz afe oo mificrdt $1 gemmn ¥ cart Bt Hisr 3 aftes Do 2a1 2
SR sl & AIAID 3 Brsiked fwcdl 3 A 38 37z gt ;

[Question ID = 1624][Question Description = $2_qSNz_PG_HMS_Q74]
1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) 2=t =t 2 5z (R), (A) & a1t =omen
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[Option ID = £493]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} &= (R) 3ol 52 & usseg (R), (A) & =&t == =gt 8

[Option ID = 6494]
3. Afs true but R is false/(A) ==t 2 wemg (R) =2t ot £

[Option ID = 6495]
4. Ais false but R is true/(A) 7 o1t & ooy (R) 7@t &

[Option ID = 6496]

75) Per minute calorie consumption for moderate activities is

aed sifcfal?rl & fore g fere Sorlt o1 susiiet &

[Question ID = 1625][Question Description = §2_gSNz_PG_HMS_Q75]
1. 1.4-2.0 calories/1.4-2.0 =t

[Option ID = 6497]
2. 1.5-2.5 calories/1.5-2.5 $rrlt

[Option 1D = 6498]
3. 2.0-3.5 calories/2.0-3.5 &etH

[Option ID = £499]
4, 3,0-4.5 calories/3.0-4.5 did

[Option ID = 6500]

76) What type of adaptation it is where humans exhibit the capacity of being moulded?
g R QoI w1 3iGacTal & Siel Amid Hid # &t sial B g geltfa o 8 7

[Question ID = 1626][Question Description = 52_qSNz_PG_HMS_Q76]
1. Genetic/amgmigms [Option 1D = 6501]

2. Plasticity/zmg=e [Option D = 6502]

3. Acclamatization/ssfmea [Option 1D = 6503]

4, Behavioural adaptation/=rmr amam [Option (D = 6504]

77) Quarternary Purple is
T oiferciiise (arardzordd uda) 3:

[Question ID = 1627][Question Description = §2_gSNz_PG_HMS_Q77]
1. 3B+3¥+2ZR

[Option ID = 6505]
2. 2R+2B+2Y

[Option ID = 6506]
3. 3Y+3R+2B

[Option 1D = 6507]
4, 3R+3B+2Y

[Option ID = 6508]

78) The general guidelines of work height for the task where there is frequent use of eyes and infrequent use of hands
are:

qFerr 3 wralryr B sist il wr A geleT Slar 3 9w sl o fve gaer slan 3 O wrarsw Ron-ferdor ¥ :

[Question ID = 1628][Question Description = 52_qSNz_PG_HMS5_Q78]
1. 2-8 cms below eye level/sn=il © == & 2-8 Ipit sfa

[Option ID = 6509]
2. 3-10 cms below eye level/anwl & =z 3 3-10 3pit ofi

[Option ID = 6510]
3. 5-10 cms below eye level/an=il & w2 & 5-10 3#t =i

[Option ID = 6511]
4. B-12 cms below eye level/sn=it & Fe 31 8-12 It &k

[Option ID = 6512]

79) The group of commodities listed in the essential commodities act is

Mg aq Ao # Ihag a3l @ e &

[Question ID = 1629][Question Description = §2_qgSNz_PG_HMS_Q79]
1. Iron, steel, petroleum, Aluminum/{ ez, swed, UicEm, soggibrm

[Option ID = 6513)
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| 2. Coal, steel, cotton, Steel, plastic/®wren, s30a, Tu, 90, Cies

[Option ID = 6514]
3. Paper, drugs, brass, steel/=vwr, s, diae, ssur

[Option ID = 6515]
4. Coal, cotton textile, Iron, petroleum products/ormen, Fum T3, oiEl, MEeET Ious

[Option ID = 6516]

80) Which colour combinations are used in achromatic colour schemes?
arefas o1 diston # R 31 HAeisrar w1 swcrare v s 3 ?

[Question ID = 1630][Question Description = 52_qSNz_PG_HMS_Q80]
Yalue variation of neutral colours/semdter 3= w1 71 waoerz [Option 1D = 6517]
Secondry colours/sitz 1 [Option 1D = 6518]

Primary colours/grefiess 3 [Option 1D = 6519]

Opposite colours/faddia &1 [Option ID = 6520]

O

81) Project size is decided by
uf=irel @1 Aok o T = Rear srar & 7

[Question ID = 1631][Question Description = §2_qgSNz_PG_HMS_Q81]
Government /=R [Option |0 = 6521]

Financial institutions/frter sizen [Option ID = 6522]

Project formulation team/uRxirsten fi=am ga [Option ID = 8523]

Project engineer/ul¥=ismm sférin [Option ID = 6524]

oW R

82) Identify from the list the values of working environment:
A, Punctuality

B. Creativity

C. Variety in work

D. Economic reward

E. Flexibility

Choose the correct answer from the options given below:

DRI-artrazer @ el Dt Yor-Yedt A usdre o ¢

A, arr-forsean

B. saemeamen

C. orl 3 fafaean
D. anfefes arfsanftes
E. si#ar

of fon a1e farscal 3 3 78 saz gt @

[Question ID = 1632][Question Description = §2_qgSNz_PG_HMS_Q82]
1. A, B, Conly/dua A, B aliz C

[Option ID = 6525]
2. B, D, Eonly/dwm B, Daiz E

[Option ID = 6526]
3. B, C, Donly/daa B, C 3z D

[Option ID = 6527]
4, A, C,Eonly/dma A, CalizE

[Option ID = 6528]

83) The expected standards of a consumer education material are
A, Accuracy

B. Completeness

€. Commercial

D. Objectivity

E. Discriminatory

Choose the correct answer from the options given below:

FoveT e aneel @ skfdm e §
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A. a8t

B. guiar
C. aifSaras

D. aegireom
E. usraragef

i 2w s1w faascal 3f 2 718 302 9ol ©

[Question ID = 1633][Question Description = $2_qSNz_PG_HMS_Q83]
1. A, C, Donly/@am A, C iz D

[Option ID = 6529]
2. A, B, Donly/aaa A, Bz D

[Option ID = 6530]
3. A, D, Eonly/dma A, D iz E

[Option ID = 6531]
4, B,D,E only/wm= B, DA E

[Option ID = 6532]

84) From the list given below which are the indicators of static work
A. Increased muscle blood flow

B. Sustained muscle contraction

€. Increased muscle oxygen consumption

D. Oxygen independent energy production

E. Glycogen and blood sugar is used to produce energy

Choose the correct answer from the options given below:

off) &1 o1 3t A Féiferar ol 9 Fdaw Bia & ?

A. simadrn o Falfla w6 gas

B. aiauRrl i sfaRoca e

C. anafdrm 3 sirazdlsor @ smier 3 Agfy;

D, siiailaa g6 Hel sruica

E. seliEdiarel Hiz o6 9RBI ol GRileT Helf Jrurca @ fom fosen @i 8

aftdr v oo froseai A A @t s gdi ¢

[Question ID = 1634][Question Description = S2_qSNz_PG_HMS_Q84]
1. A,Band Conly/grmm A, Baliz C

[Opticn ID = 6533]
2. B,Cand Eonly/@aa B, C afiz E

[Option ID = 6534]
3. B,DandEonly/gmm B, Daliz E

[Option ID = 6535]
4, A, Band D only/gwet A, Baiz D

[Option ID = 6536]

85) From the styles given below which of the following styles are part of Late Georgian Style
A. Adam

B. William and Marry

C. Happle White

D. Chippendale

E. Shearton

Choose the correct answer from the options given below:

iy €1 ¢ diferal o 31 wla =N fowartarfiaa diferi "ae difsias weda’ o1 e § 7
A, usa

B, fafera siie 3ift

C. ua were

D. Ridiga
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ofty Re s frseai A A aft sae gdi ¢

[Question ID = 1635][Question Description = 52_qSNz_PG_HMS_0Q85]
1. B,C,D,Eonly/B, C,DalizE

[Option ID = 6537]
2. A,C,D,Eonly/A, C,DaizE

[Option ID = 6538]
3. A,B, D, Eonly/A, B, DaizE

[Option ID = 6539]
4. A, B,C, Donly/A, B, C afiz D

[Option ID = 6540]

86) Match List | with List [l

List | {Project appraisal dimensions) ‘List H{Activity)

A. Economic appraisal ‘I. Suitability is examined

B. Technical appraisal . Determines financial viability

C. Organizational appraisal lll, Scale of project and the process
adopted

D. Managerial appraisal IV. Adequacy and competencies are
scrutinized

E. Operational appraisal V. Indicates priority use

F. Financial appraisal V. Capability of project is judged

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 gAfera Bifw ¢

gt -| axht -1l

{ afwnsen geaformaer sremer ) | ( =iafafier)

A. e Feafor=uvt |, Suzear &t s1iE &t SRl 3

B. it Jrafermaur I, férita saraarfan forenifya o 2

C. FPTOARAD Frafomuol 1. uf=itson Bt #ArEi iz saeld s gipen
D. yderba scafrsaen IV. vt afiz graransi & sidian Bt swh 3
E. siftcacas grafoaor V. grerfarsar aenz uz yis1 Isla oan g
F. frfler srafresaor VI, afsirsra &5t graar o s fas sien 3

e R EE T r—"

[Question ID = 1636][Question Description = 52_gSNz_PG_HMS_Q86]
1. A-LB-1,C-VI,D-V,E-IV,F-1ll

[Option ID = 6541]
2. A-V,B-U,C-1,D-I¥,E-¥I,F-Il

[Option ID = 6542]
3. A-M,B-VI,C-V,D-1,E-V,F-I

[Option ID = 6543]
4. A-U,B-1,C-V,E-II,D-VI,F-IV

[Option ID = 6544]

87) Match List | with List [l

List | List Il

A. EL Nino l. An interaction where one
organism beneficially affects
second organism

B. Green house effect Il. A practice/process that tends
to ‘long term change’ in land to
non-forest uses

C. Desertification lll. The progressive warming of
the earth’s atmospheric
temperature due to insulating
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effect of COz and other similar
gases
D. Deforestation IV. A periodic rise in temperature
of the Eastern Pacific
E. Commensalism V. Degrading a once fertile land

Choose the correct answer from the options given below:

et -1 @ et -1l A AR Hif

it -| it -l

|. o sccATRA el U Sl gl Siid @l ot =u o
Pl e v B
B. sfie ersw ||, v yen / gitgen Sit yfs & Ste-aa galer 2q ' Skfwifers
of¥acior ' &t stz g skl 3
o lll. Drdet-s¥-siiaarss iz st e &I o idl & guaoit
B reciasor g O wror gedt & argpiscl araarer @B gt mrogty
Dﬂ' IV. geif geria @ amera 3 smafiss gfy
E. s |V, ot adz 38 i o1 ormlitamd ol
ofta v s1¢ fraseal & A =8 sav ofen ¢

[Question ID = 1637][Question Description = S2_qSNz_PG_HMS_Q87]
1. A-LLB-1,C-N,D-V,E-IV

[Option ID = 6545]
2. A-W,B-1,C-IV,D-1,E-V

[Option ID = 6546]
3, A-N,B-1,C-V,E-I,D-1IV

[Option ID = 6547]
4. A-IV,B-1,C-V,D-1V,E-1

[Option ID = £548]

88) Arrange the steps of organization process in sequence;
A. Delegating the work

B. Grouping activities

C. Delegation of authority

D. Identifying and classifying the activities

E. Coordination

Choose the correct answer from the options given below

Horool gy @5 vl Wl s H sl ol

A. i wigen
B, wggar st

C. giftrez @1 geariisel
D. srieiiir 51 as<iret weon siiv gelapa ween
E. IHcaa®m

i 2w a1 faascal 3f 21 718 302 9ol ©

[Question ID = 1638][Question Description = $2_qSNz_PG_HMS_Q88]
1. D, B, C, A E

[Option ID = 6549]
2. A, B, C,D,E

[Option ID = 6550]
3. B,AD,CE

[Option ID = 6551]
4. D,C, A B, E

[Option ID = 6552]

89) Arrange the steps of buying process in sequence:

A. Evaluate the product

prepp
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B. Exchange product with money
€. Find the product

D. Recognise the need

E. Develop interest in the product

Choose the correct answer from the options given below

o bt giagn & il o oA 3 craiiea &
A, I(UK @I PeAidel T

B. tra1 @ A1l 3rUrc oI Ao ©3

C. Icuig @1 Odl os

D. SIEz @ Ugdmcl

E. 3rung 31 sl faoefia o3F

i R a1¢ faaseal I 2 =& 30z ol :
[Question ID = 1639][Question Description = $2_qSNz_PG_HMS_Q89]
b B B G D E

[Option ID = 6553]
2. D,C,E A B

[Option ID = 6554]
3. D,EC, A B

[Option ID = 6555]
4. A, D,C, B E

[Option ID = 6556]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The color of ripe watermelon is higher in strength as compared to color of strawberry ice cream.
Reason R: The colors at normal value as in watermelon are always in their pure form and thus are full intensity colors.

In light of the above statements, choose the most appropriate answer from the options given below

ofla 5t werer Ru o120 2 : wep Wl sif¥csast (A) sfiv o @t aab (R) war sro 3

sifiroemt (A) : +Xiad amsriia @ 3ot B gomon 3 oD g degs @ =1 Gt ere affro Rt 3

@i (R) : sare w1 Uz Siet R aegst @ 301 gdien aiaat 9 u # g 2 iz $91 geor gui <diger axi 3=1 8
TR wusil @ s 3 Besikea Rooal 3 3 318 o gt @

[Question ID = 1640][Question Description = 52_qSNz_PG_HMS_0Q90]
1. Both A and R are correct and R is the correct explanation of A/{A) 3z (R) Sl =t & Jfiz (R), (A) & 2 =ow=m &

[Option ID = 6557]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) & (R) o= =2t & g (R), (A) 5 w2t smecn =t 8

[Option ID = 6558]
3. Ais correct but R is not correct/(A) 7t Zuzeg (R) =it =i &

[Option ID = £55%]
4. Ais not correct but R is correct/{A) 3t 2 8 uwog (R) = £

[Option ID = 6560]

Topic:- HomeSci_SETZ_B

1) Read the passage carefully and answer the question;

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state, The National Commission for Protection of Child Rights (NCRC} was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005, The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(i) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
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in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

FETi9l BT tARIgd® U iz geol o1 362 & |

1992 Ji Hyep ey, & arar aifdror: waeedt afireraa (3 wat 2t oz = ) D sorameler @ 9 sz of fEpoeiiT U 36l il f Iocl[ T g0 48
Hfortm fivan 5 18 o A oo 3R] W yrdw «afir, Bt Smama affz a1 Bt anaerear 3, I A 531 YId @0l Ol 506k & 9K JifpR
Hzevl amnet sftforma, 2005 @ aga ard 2007 3 ot a siftreere Fizgon sedet ( od i oz 2 ) & rengen Bt o oft wea @1 wfiene
it zal ot o aftrrRl B granfy S S Rkt afdafta - (1) 6-14 od & sy o1 o 9l acal @ Rre goa siie siferart gqrbiers foren
i siftrr (11 ) 14 ad & 3=y aw ’osll 3t e IAsenz 3 R 3w @1 sitrez ( i1 ) 3orbl sy ar aifr & 1w seprRps saasr |
geIor @¥oY &bl anfifes aforarfanil stz dia ofaor 3 Fizfém Aol o after ( iv ) Tarya afld 2 efia o @ o e ARt i glaasit
1 ARRDR TICIRD, $76l FAR WHEH YIaErH ool @ aIass I # acd 3l oft 3Rm ot | wf o a gl 2 & fp san 391 & Rifica
"Bl A arel AeRI @1 Rew yowr Iccidad s o1 761 2 Bad anmaraasdiiEer aenise diz snfele afyvne af?ie wmazene glsl  are Ala 9iuvur
21701 w1 G 307 wazene Bran ¥ ol guang wf gl B s i sad oot B st o1 St A wens wra 3w s 91 srast S A o
afela Fars 3 25 &, el gl @t 3k aia foen odl € Sl 2 gl © e Ssmnt A1 did ofavr giar & dfted ISl © vl d e
DIl A TG TE & iz T TR e it @1 eI aord Tad &

Which is one of the dangerous things done to the children that silently kills the potential and development spurt of many
children?

il @ gfiel Wl 31% Travels disil A 3 wiel T £ Sl gUaId W% dedl Bl S1dI 317 o b sz ©f dslt A s wwn § 7

[Question ID = 1641][Question Description = 52_gSNz_PG_HMS_0Q91]
1. Child rights /e sRree

[Option ID = 6561)
2. Child abuse /=fe ity

[Option ID = 6562]
3. Sex education/<far Brer

[Option ID = 6563]
4. Child protection /e Hzgnr

[Option ID = 6564]

2) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state, The National Commission for Protection of Child Rights (NCRC} was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005, The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii} Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner, However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children, We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

SIETIQl B! LAY Us iz Yol &I Ja3 & |

1992 3 Agep e, @ diel Ao r weaeddl afdeem (g et 3l sz Mt ) & agrriadda @& =g sz of Revilz U2 31Ul Dol ¥ dcold Tl gy Ae
Fioriya Bear @5 18 ad A o sy @ qrdes wafts, B Swwre oy sivgor &) srreaamr 3, 2159 A §34 QA @ ©f swor 8w it
Haamr aritet sififerma, 2005 @ aga ad 2007 3 aedis ae arftrors F=Esmr et ( oo H ame 3t ) @ Fenuen &t =1 ot sea @1 Afkieoer
it aeell @l e ARrpRl & gramgfar S 2 faea afdafera 2 - (1) 6-14 ad & ey aof o w0efl @l & fere e aiiz siforart grfiss forgn
i aftreorr (11 ) 14 ad &6l sy oo Reedt o1t wmees Asene I Fefdi 601 o sitreere (11 ) serdst sy Ay R 5 Rre srapayes wraara &
ol el @i anfdie aferarianii sz e ol 31 Fixfda S o aftrenz ( iv ) Tare adls A aehm o & foe weme s At Fiaemsi
v Aftreore sEfy, saor Al woph gqratrs s61 95 arass s 3w ol oft gHfdm afl ¥ osd Yidbaw us coif @ ¥ 5 sk Sor & Aifieer
el d et fPRpRI @1 Row QR Jociger [Resen su Ja1 2 Bord smanrreiie sanbee s sniRko afywms iR mreer gis1  ara <iar oflgor
SI30T 51 U 3itz Fars faram 2 o gquany &F gl &t s 3tz Jord Rt Bt dez ol deit 21 JIr S 2 & o oft aruoy Sor #f o
aldla s 3 35 &, =16l adl o) sfa isr en ol 6 ardt & ool @& Jry Ssaell Az dia efgun simn 2 Aisor sismam © orer 4 [REer
el 3 AW & § Jiiz dd HIRT 7 ol @l WD G e E

This is NOT the right of a child,
a1E @l ol affror ai E

[Question ID = 1642][Question Description = §2_qgSNz_PG_HMS_Q92]
1. Right to free and compulsory elementary education for all children between the age group 6-14 vears/6-14 o ang 7of & sl act & fon fagees iz
aiorar! YRS 9181 & AR

[Option ID = 6565]
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| 2. Right to be protected from being abused and forced by economic necessity to enter occupation unsuited to their age or strength /3=t sy a1 s &
e arguere oxaene 3 garyr sl &1 anféfer afdmreionsl e dia e 3 s @ o afieens

[Option ID = 6566]
3. Right to be protected from any hazardous employment till the age of 16 years/16 ad @5t amg v Rl sl wrmere 9o & Fftm 7591 o sl

[Option ID = 6567]
4. Right to equal opportunities and facilities to develop in a healthy manner/zave adis 31 R 2o @ o wmmet sl Jf g o gt

[Option ID = 6568]

3) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child {(UNCRC} in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
recejve it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii} Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

SIELR] P! SABIYHkD Ue 3ii7 geal I JaE ¢ &

1992 ¥ Jgp wee & wid SifErpR Aol aiSmaara (g ot 2l sz it ) < aorzstdel @ w16 M of Rpoilz U3 aaol wDiolpl 3 Aocid T 5 A6
Hiciia fepan fos 18 ad 3 a1 sy & g wafp, [Eat Swanra iz sz &Y arayaasdr 3, 715 3 73 g1 &l ©f 3der & did e
Hramr ariter sififerm, 2005 @ aga st 2007 3 aedis are arftroor: sEsmr et ( e H ame 3t ) & Fenuen &t =1 ot sea oo Afkieoer
3t sl B o aftrerd & granifer 2o 2 ot afdaferm £- (1) 6-14 ad &6 ang oot & el a=al & e T 3z afsart yriins Hign
i aftreor (11 ) 14 ad &l g ao Rt »ft wmeemes Asene 3 il ve0r o siftreer? (11 ) serdt sy ar af @5 Rre srapoaes wraara &
qa9r wzal & anf¥ies sforarianaii siiz e oltaer A Hafda 2 @1 aftrer ( iv ) rare adls 3 foohina o & oo aeme saeaal e giaemsi
@1 aftreers FEifes, sor I Sl grae Ao & aagg e 3 a=) anfl oft I aff 2 of Fidas s cof 2 2 sz o1 & Rfice
el d e fERpRI w1 Rew QR Jccrger R su Ja1 2 Bord smarreiiie sbsne sie snieko afwms PR e gisl  ara diar ofgor
S130T T Ueh 3T EREARD (221 § =il guanu ©f aw=ii & gaw 3z oo e & agz o deft 3 A oo § & a5 of aaa 2913 o
afster st # 601 B, Srai accl o sfa i PBen o & ot § acal @ arer Sswel siiv dior oitgor diar & Afver srsmeran @ wiver F Rder
Dol 3 G Ea E iz dd JAA o oNwul ol 9151z dJond 36 &

Child abuse occures in India but is not reported and children fail to protest because
arel Alol oftawT szd 3 B & uzeq Yiaafea sl foar airan § 3 a1 fadier @t 3 Rivea zaa E @ife-

[Question ID = 164 3][Question Description = 5§2_gSNz_PG_HMS_Q93]
1. Children are not vulnerable /= smiém o &

[Option 1D = 6569]
2. Children are ignorant /sl seoet £
[Opticn ID = 6570]
3. Child rights are being violated/ar sffrerRt &1 gomr BT 50 701 2

[Option ID = 6571]
4, Children don’t have any right /aeei @t @i sftror o £

[Option ID = 6572]

4) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child {(UNCRC} in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state, The National Commission for Protection of Child Rights (NCRC} was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005, The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii} Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently Kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ighorance, they fail to protest and keep on becoming victim of exploitation for long.

FEM9l BT tARIgd® U iz geol oI 362 & |

1992 & Agxs e, @ 91 Ao wadotht afimaa (g vl 2t sz i ) @ swpemelor & a1z of 9N U2 U6l Diofel # 9o DT g8 I8
o foar @5 18 ad 3 wa sy @ gt safes, B Swmwra Ay Fizgor 6 sraoamar 3, 159 A $38 YIa @0 ©f sook § ara afteers
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Fsarer srenst afiferaa, 2005 o asa ad 2007 3 sl g siffere dzeror seier ( wor 21 ane ) & Fenaerr &t s1f off siza @ wHfdener

9t scal B o aftrerd & granifar 2 2 o afdaterm - (1) 6-14 ad &6 ang oot & woft a=al & e e 3z arforar! yriies Hign

ot stfdremr (11 ) 14 ad &5t g Ao fedll oft smmvers Asene A FRI8a Jsol oo aifrests { 111 ) sordst any o erfyr o foére arerayes wraara &

gagr w3 <t anfies arferartanaii sz e oftaer 3 szt dier @1 altror ( iv ) Fora il A el o & o ama saerl oz giemsi

@1 aftreerz Fcifes, sor I Sl Yrame Ao & aasg s 3 a) anfl oft I aff 2 of Fidas s cof 2 2 16 s o1 & Rfice

st 3 et siffren1d @ R gosiz sociae fean s va1 3 Bred smaraaafifter aenfSre sty snftfo afyens affrs moes &5 ara #iar oo

S130T 1 Ueh 3T ERAKRD (222 § 5l guanu ©f aw=ii & saw 3z soo e & agz o deil 3 JaH oo & & o5 o aas 2913 o

afster st # 601 B, Sral accl o sfre <disr Own o & ot & acal O arer Sswmel v dior oitgor diar & Affver srsmeran @ wrver F Rdter

Wl A 3R0BC IEA S 31 ol WA & 9idvl @l ORGI 9okl i 3

The full form of UNCRC is
‘g oot Hi ame A w1 gut Fu &

[Question ID = 1644][Question Description = §2_gSNz_PG_HMS_Q9%4]
1. United Nations Child Right Cemmission/ Jomses figie aEes a8 SileA

[Option ID = 6573)

2. United Nations Convention on the Rights of the Child/gemss sekr weilerm sl & 60 sife T umes
[Opticn ID = 6574]

3. Union of Nations for Child Rights Convention/afrma Jiie ol Bz aEcs I6e Todgel

[Option ID = 6575]
4. United Naticns for Child Resource Commission/gJases onia 6 § ames R it

[Option ID = 6576]

5) Read the passage carefully and answer the question;

After ratification of the United Nations’ Convention on the Rights of the Child {(UNCRC} in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state, The National Commission for Protection of Child Rights (NCRC} was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005, The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii} Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children, We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long,

SIETIQT B! LAY Us 3iiz Yol &I 33 & |

1992 3 Agep e, @ dicl Ao r weeddl s (g et 3l sz Mt ) & grziaieda & =g Nz of Revilz U2 3Usl Dol ¥ dcold ©xl g A
i Boar 5 18 ad 3 oo sy @ g safes, B Swwra Ay Fzgor & s 3, a5 A $8 gIa @0 ©f sook § ara afteers
Hzgivr aRIET fforme, 2005 & asa and 2007 3 ol amw aftrere dzgmor sidter ( vel 3t ez 3 ) & renuen 6t o oft wa @ Fifenre
it areell @l e AReeR & gramyfa S 2 fasa afdafera 2 - (1) 6-14 ad & ey aof o 70efl aeall & fere e aiiz siforart grfiss forgn
ol Aftrer (i1 ) 14 ad &i 30 Ao [eall ot waeers JseiR A FIAE Iuet @I Aitepz ( 11 ) 3o1dhl 307y a1 gifvr & fore aeluRye saaar 3
geIor @Y &l anfife sforarfanil sz dia ofwor I Fizfém A6l & after ( iv ) Tarda afld 2 el o @ o e awet i glaamsit
i Aftreo sEfy, s Al wioeh gratrs s6r O arsis s 3w il oft Ffdm el ¥ o Yidbaw us coif @ ¥ 5 sk Sor & Aifdieer
"Bl A arel AeRI @1 Rew yor Iccidad s o 761 2 Bed amaraasdiiEer apnise diz snfele afyvns af?ie wmazene glsl  ara Ala 9iuvr
SIT0T 51 Uh 3itz WEard fEra 2 o guany &F acal &t s 3tz Jord e &Y dez ol deit 2 [y S 2 & o oft aruoy Sor Ff v
aldla s # 35 &, =16l awdl o sfa wisr en ol 6 ardt & ool @& Ary Ssamell Az dia eigur st 2 Afbor ssmaa © orer 4 R
Il H I TE & i ) TR e oiauT @1 R aord wad &

Right to free and compulsory elementary education for all children covers the children between the age group of
il weal a5 fore gue sz aforar] grifire e & sftror 3 foes g asf & edl o afdwfent féean s 2 ?

[Question ID = 1645][Question Description = $2_qSNz_PG_HMS_Q95]
1. 3-6 years/3-6od

[Option ID = 6577]
2. 318 years/3-18 o

[Option ID = 6578]
3. 6-14 years/6-14 o

[Option ID = 6579]
4. 6-18 years/6-18 oo

[Option ID = 6580]

Topic:- HomeSci_SET2_C

1) Read the passage carefully and answer the question:
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New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content, The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both

trusted and respected by community health workers and families alike,

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed

instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”,

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.

rerion Wl exregelr ug i goa Wi I S .

1% mepottes Ricvra © Rre wians @5 gifer saaiy:era 3o o) Brifsm wa Bl smaoawar sl gz oidl wxlt 3 et s A affrosfeaa Al arasht @t
SFLI TATGIRT TG @ It YT fepam SIrar 2 aifeh oo mare]l bl usdicl & 3id>  AP]l of "diFicla’ Bloll ATide difds Ju=isIdbat Yolyel: 33 U2
granaiel 3ol I A6 AMHATG A AR Ui & Fers wrRioaisi SR griie1 = si Fmar , At 3 SIGHT ST TS S HJWT & 313 3Rl
aquw B

FAGICHS Trpollat w1 Jaaist difres el o) sndas sl seiiis gorot 5 fore foar srar 3 ' sarsa @isht ', v smitorandl zear-ofca wrl wsras
2 oit didiift Afden wrf Subp URP & ARNRE CrRical R et 3 Reole Roen srn 3, o Yen of soeew &, Rreml wo sl 39 ge
it snferepifyes wifdon Refisesras, St arsftan, St ayefior afvard & R ' dadt ' o) qrgaorad 35w gor 3wt § B ampPrs raves orfeabit e
af¥art Z1a1 U A6l U 3 Jol U2 HEIHI 317 Joldl MIGE Sloll 511 T Jdsel &

Riteprard 3 UIH 9 FHE9TD WA adled bt £afsl 3 =i sy fradl iz a1z arerig &l sk YaRa 3arrea FHegll @ 6w oo Fia-s1erre of ©oRf
DHEN G Ae il [P &l el & ark 8 " di| grum el @t tare # wah Rikbrarorr , ubaset o ageiRe sared orieal o o!
&2 vEI0! o e : Siar sa wed 3 S dhifsmg 1

oI AcoI TR whifl Sl sl g o .  fer @ wadige # v ufraiyet s1f ot s21 am 3 3Rt gon 7o o st Ferstter s 3 U= gar woms
< 781 8, ' o1t & a fafdsesrs 3 afie fifdna &, cifdvel ag oilergdl 3 dier 21 o !, b stow ARIeIiRes Tarsed oriddl of afirer s fasan, "oy disll o awar
311 3ITATol I 3 AN i RN g 3|, 3 crrifi=n w1 3+l aes A Aefl Ol ware @ [ g "

33 YbI? Tellol I ARE] YAbIil o 1el yieedlel YIn ol © o1 sgraypl E alciiids, srearel disiicio Sir] 3 Al 2q Hes-faforee s oo
agn wida §

Making the content “sticky” means-

HAPP[ O “eraera” SoIH W Ao o-

[Question ID = 1646][Question Description = 52_qSNz_PG_HMS_0Q96]
1. Pasting it on the walls in public places/33 srdafrr Ferdl @ it 1w Riummn

[Option ID = 6581]
2. Making it complex enough to be understood by the doctors only /33 waig after wonel & e daa Slaed gy 3w on Jeear &

[Opticn ID = 6582]
3. User wants to return to it again and again/swierral gons: 39 W Wankis @l o &

[Option ID = 6583]
4. The message should be abstract /3w gy 3 en Tz

[Option ID = 6584]

2) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development, Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobife kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both

trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages, This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audic message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
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giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.

FrErigr o1 ey o Aty ges W g E

&% Trepsias Rror o e sar @ gFT s surm ot Grio o & areara ot g aff it € aedt mee 3 afierfiae s el ot agir raeits rant 8 gm gl
Ry swrar & ailRy aer sl Ot veare e 7w} ot 'oereen’ Siar miEe aifls IaEieRsal gerder: 36 UT gradda B G 98 MR & AR dfis & ammfiws aefaalalt
vt 0 7l 5 e e ) | | s g | e £ e | T (e A e O e B s s e

FEAHED Frepuires] W ot fifdves ol ot sresdes iz woitisres awnd @ Bre frar soen B 1 siterso wgall |, oo waleEldt eva-yioe wrd merres § ot et s wrd vafipm dfte
oy sty wrEiamilist e g & Rrobing Reen wrn E, oo e ot soeem . Bt oo et g go oft sulfrmity atden R, 3 aelion, & opehior afyat oF
Al ' 3 W A TN E 9 TH YRR A 960 3 R AR wreed wrimali i aiar 2en s a9 w0 A 36 9O aEE i o e SiEl R S aeear 3

RIftnraas 31 QI 95 Hael @ U S3eA @O b 2 ki odmg fHad iz an arErk 61 Jor Uam e J3eell @ fn o 7ak-16mes © o] @ 3 98 ot gag 6
it an & & 1 oo gy Heenaiio damer 3t 72 Rifseeoer , afvorea s AR A ortonl | e @) o e © e S oa weeet & der S 1

I oo T wikal o i Qint wr s E e o ey # v ubrnbi orf ot 591 awT i et a0 e ot ardell Fenette smar 3 U9 oy wone © v E, e E ag Rilderen §
iz ffda &, Siffrar a2 sisrgdt 3 der 2 2, o o1 AR mareea Srfaal of ARREs Ko, "Ht et @1 w1 s s s A Aersrrar W Rro g s, F oot st
frez i woonal} &6 o Y weee g "

& 71 geoIe Fermiieran wafl grilveTaiias ey giveals: o i @ B asragui B zroils, serarst sitsitfces Siqll # sos 3 dev-Rifbree arasf ot g ofdw &
‘Mobile kunji’ is an innovative audio visual job aid developed by:
=D oiklotdtl £93-9[ca Rl HerKkp | HAldisd ®sll | Rowwd g1 ool <t sri 3t

[Question ID = 1647][Question Description = §2_gSNz_PG_HMS_Q9%7]
1. All India Radio/srerormwh

[Option ID = £585]
2. Bihar state government/ e = axme

[Option ID = 6586]
3. Women and Child welfare Department /g w4 9eT o feT

[Option ID = 6587])
4. BBC Media Action/dt &t Tt #itf3=n i

[Option ID = 6588]

3) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development, Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji', an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both

trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages, This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audioc message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.
sTETist it saorgelos e AT gr am g

ors Al Rrnra d fong e @& gt crafaa sae a Gt ot O aremra ot o arifl et & st mee 3t arfinsfeas e At 1 agin remel waEt O 2o gia
Frmu st 2 mifE die AeEll 6 ueaa T A A6El @0 daEn Slen ailEy Ok SWRIERE gede: 39 T YR Sl Tt A6 AIATE 3 AR AR & annbine wrkeatsi
FHIL yEteT e = s E, 016l 31 ST £171 JAL S AT § S se[FaIvT & J35 §

FTISIRAT (e T StRieT Sy weell ot armds sz Feiiee genst @ R Rem smn ¢ ' sivnso aielt ', oo aeierdt sva-yiea avel wierens E ot ki afifin ool Salm die
& wibae SEiealil R QEE 35 Reohin Rew =rn 2, o 2 o seeew 8, sl o srmifonetiaT 3ot gv ot snlemifss attan Rifsoaes, 3t asian, =i spefton affact & i
arerdt ' ¥ o) o woven B 8 v gt B ool ¥ B wmrygelres varren eevlaaiaiiaiiy of¥ar o ves wars w0 A gw o sl it seras e Sl e s maar §

Ferlerrams 3t o 9iERn HEe OF M swen & afh & Fafin oerag Fedt fiv nre o 6 sioer gpm wacres ARl oF R ves raffr-amres o el wan § g asfan e &t
darfta ane & 2 ;7 o g Heenaiil s 3 751 fiRverem |, ofwres s aeeilne anen orlral | oo @) g7 wEe w B San s wee € dar S |

T HEeT FarEe Wil w1 st Qe s T  Fiew O AWy # W ulEnbEnT e W S @ J A gan R i el Fumsiin M 3 i o5 AcE © w6 g, 1 e # aE Rilknea §
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30T Ynkaen , cllass oz wisrgH o el 22t et °, oos asr AnEter Taries werRieeed of AdeRne s, A StEl o6l S TE JEre srer o AwsrET Al Ben £ 3", 3 et 851 sl

rizg 3t AAR{ Bt R W AT Y
T ez Tenelieraya Sl gritaaiids s gitnati orn avee o R Aecaqul §  Sienifl, srae sitsitfer Sxgt 3 wrae 3g sl Rifiree wmEw] S aga wiver §
Which three numbers are needed to be kept in mind?

fove1 ot Fiw=IRIl o ¢2mel 3 FEmY ) FAwwT 2 ?

[Question ID = 1648][Question Description = $2_gSNz_PG_HMS_Q98]
1. Hospital, BLO and medical store/Riesraner, 10 el a0 4 gar &1 g

[Option ID = 6589]
2. Hospital, transportation and community health worker/Rifsrarr, uiiasa e It woeea oefoat

[Option ID = 6590]
3. Doctor, Neighbourer and BLO /fitsraes, el sfiv 0 val ah0

[Option ID = 6591]
4, Sarpanch, transportation and ward member/ s, g die Setou o=

[Opticn ID = 6592]

4) Read the passage carefully and answer the question:

New technology does not remaove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both

trusted and respected by community health workers and families alike,

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker, To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”,

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.

FTEIIST DI SATAYE® U i goat 1 e € 0

o1 Tepeiles RRGTH 95 forg sane & gf cEaben e @ B e &1 areassdl o oI af i 3 il Aass 3 abirsteua SaEd apell @) agen FosiiRn =E o 21 IR
e aimen & wnidy wio1 weelt &t unars o A w0 ot ‘o e antde mits suiersal gerdel: 331 UF grenariel ool iE 10 AR 3 ik dite o At wereloetai
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FOATAT ARE BB FEIET SR AmE]l O aredE s Seiids J9m o e frn st s | Alasa Gl |, we scaitdl 289-90- R 3eres § St i i orl Safm dke
& wranfares wredesalal Fo gab 2 Rl f srr B, v Yan s sgmyon &, Bool oo garayfreiter 2@ go it slesiyes aftor Rifveares, 3 aelia, st sosftor ofvans oF fer !
Ateredt ' E W g weal @ TF gEnE 3 well & Ry AngeRnn e wriwataitaie ofrast Zrn o e wa 3 39 o wEe Jit 3ot angs el s on wsar &

Riftrezras 2t gig ofe Her O WU ele Ot afsr 3 Reflm deeg hod sfir ar aerig fF dore g raeer A3l @ R wr raft-mennn ol o @ as i gaa &t
Aot e ard 3 &+ " fiw o dsmanitest oo 3 vl Brfremer |, ofvaes i sogmifes rarees wrleal | rora @01 57 vaa o fo S e ased § S Sifsn 1

o FEor Tavsey whiidl o it Qfya ey v B Fororz o Al 3 wos aiventyoor s o6t v ey 31 ol g RS eord araslt wenoiter sorer 3F Dl war wrons & e g, | wel £l an Rilsraw &
3z Tonfdse &, Afdner o sitergft 3t e w8t &t ', oo 2w AEmRee rana oRkasd o afirents B, e S ot S i e woar F memren Atm fReo E ar, I onfRiE w 3ot
e 3 Al 6w @ e g,

T YRPLs TR SPEH QDTS Sie gfteaten e e © Rie asrayui 3 SIeiRn, s Sishiern St 3 s 3 He-Rifére ammeit S 9 ofte 3
Mobile Kunji has a potential to be used as-

A. Capacity building tool for the health workers

B. Tool to educate health workers

C. Tool to inform only health workers

D. Tool to inform people directly

E. Tool to educate masses only

Choose the correct answer from the options given below:
qrsd Welt A g1aT & R 39ro1 9T 59 w4 3 8 IRD -

A. Farre widkl © e g Braivr sawmeo

B. vare wiifal @1 i o @ foe suman
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C. @aa rarea ohii o gk o @ e samsn
D. cil=li @ yr=agl a A JiwT w3t D e gummsan
E. asaer srerdr ot 813 weel @ ferw sumann

oifer o ore famseul 3 31 7t 3aw ool @

[Question ID = 1649][Question Description = §2_qgSNz_PG_HMS_Q9%9]
1. A, B, Conly/dua A, B aliz C

[Option ID = £593)
2. B, C,Donly/ama B, C sz D

[Option ID = 6594]
3. A, B, D only/da A, B aiz D

[Option ID = £595]
4, A, C, Donly/sam A, C3liz D

[Option ID = 6596]

5) Read the passage carefully and answer the question;

New technology does not remove the need to employ systematic approach to Communication for Development., Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’', an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both

trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages, This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audic message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.

FEM9l BT tARIgd® U 3T geol o1 362 & |
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The characteristic features of context specific content for communication are-

A, It cannot be scaled up

B. It cannot be used in all states

C. It will be equally valid in all states

D. It can be scaled up easily

E. It is very powerful for behaviour change communication

Choose the correct answer from the options given below:

A & o fafdree ams]l 6l sifirensiire fadam 3-

A. 331 goran ol s wAr

B. 3 st w5 3 svdaner arfl R sn mepar 3
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[Question ID = 1650][Question Description = S2_qSNz_PG_HMS_Q100]

1. A, B, C only/awe A, BafizC

[Option ID = 65%97]
2. A B, Donly/dwra, Bz D

[Option ID = 6598]
3. B, C,Donly/fawm B, Caz D

[Option ID = 6599]
4. A, B, Eonly/amc A, B aizE

[Option ID = 6600]
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Topic:- GP40_D4_SH1_SET2_A

1) Study the table carefully and answer the question that follow.

The following table have 5 items along with number of items brought and sold for each quarter for each ftem.

(B - Item brought initially in the guarter, S - Iltem sold fn that quarter)

Quarter -» Q1 Q2 Q3 Q4
ltems B 5 B 5 B 5 B 5
A 300 | 170 | 400 | 335 | 370 | 320 | 410 | 370
B 270 | 180 | 280 | 200 | 350 | 330 | 380 | 340
C 280 | 210 | 330 | 310 | 250 | 200 | 250 | 200
(1} 320 | 250 | 340 | 290 | 230 | 180 | 280 | 240
E 325 | 275 | 370 | 315 | 320 | 170 | 265 | 190

TIRTET B Ay ufen sz bre g o1 w1z dbme

Aol mitrst 3 air awgali sz g Fendt 3 s oy 9 s 6 =0 & o § (B - Fod & smeiar i o o =1 e, S - 5o Fendl 3 R o =1 9]

fPramét -> Q1 Q2 Q3 Q4
my |B|S|B|S|B|5|B|3
A (3001170400[3352703204 10370,
B [27011802802001350330380/340
C  [280[2101350[3 104250120012 50200
D [3201250/340[29012801180{1280(240
E [325275370[31532011701265(190

Find cut the average of difference of item brought and item sold for Quarter 1.

Rt 1 & o @51 713 iz R o5t oif awgant &F o & SfenT a1 oo oenEy

[Question ID = 2776][Question Description = $2_qSNz_PG_GP40_Q01]

1. 81

[Option ID = 11101]

2. 82

[Option ID = 11102]

3. 83

[Option ID = 11103]

4, 84

[Option ID = 11104]

2) Study the table carefully and answer the question that follow.

The following table have 5 items aleng with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - ltem sold in that quarter)
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Quarter -> Q1 Q2 Q3 Q4
Items B 5 B 5 B 5 B 5
A 200|170 |400 | 335|370 (3220|410| 370
B 270|180 | 280|200 | 350|330 |380|340
C 280|210 | 350|310 | 250 200 | 250 | 200
D 320|250 | 340|290 | 280|180 |280( 240
E 325|275 | 370|315 320|170 | 265|190

iR @t AnsEide o e Gre g o e O

B aifernt & o axgall sfiz geier Rt 3t o ot @ Ry O s & ot & (B - fondt 3 amdar 3t e <6 =1 g, 5 - oo st f Rrge o 518 3=}

femt - Q1 Q2 Qs Q4
gy |(B|S|B|S|B|S|B|S
A |3001170400/335(370[320410370
B [270/180/280200{250{330{380340
C  [2801210350(310{250[200250200
D |32002503402901280/1801280240
E |325275370/315[320/1701265(190

Which quarter has maximum number of items sold?

fosa Fandt # Brapa & =i awsl B dem aaifs & Y

[Question ID = 2777][Question Description = S2_qSNz_PG_GP40_Q02]

1. O1

[Option ID = 11105]

2. Q2

[Option ID = 11106]

3. Q3

[Option ID = 11107]

4. 04

[Option ID = 11108]

3) Study the table carefully and answer the question that follow.

The following table have 5 items along with number of items brought and sold for each quarter for each item,

(B - Item brought initially in the quarter, 5 - ltem sold in that quarter)

FreartrRa mitrer & ai= awgat i graas Ferdt o o o & B o sieen &t o1 & (B - Rt 3 amsar 3 o ot 918 e, S - oo Rrandt 3t B o o1 awg)

Quarter -> Q1 Q2 Q3 Q4
Itemns B S a8 5 B 5 B s
A 300|170 |400 | 335 |370|320|410| 370
B 270|180 280 200 | 350|330 |380| 340
C 280|210 | 350|310 | 250|200 | 250 | 200
D 320|250 |340 | 290 | 280 | 180 | 280 | 240
E 325|275 (370|315 | 320|170 | 265|190
mftrT it At uie Az Bre g o sae S
fond -» Q1 Q2 | Q3 | Q4
ag |B|S|B|S|B|S|B|S
A |3001170400[335/3703204 10370
B [270/1802802001350330380/340
C 280121013503 101250120002 50[200
D 3200250(3402901280118 280240,
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Your Personal Exams Guide



www.prepp.in

‘ E ‘3212?5‘3?&]3 1 5[310‘1 TL‘1165‘1 90]

What is the percentage increase of items sold from Q1 to Q27

Q1 @ Q2 3 urgait b R A Roaoy givem ofy gf 8 ?

32.74
[Option ID = 11109]

2. 31.53

[Option ID = 11110]

3. 33.64

[Option ID = 11111]

4. 31.36

[Option ID = 11112]

[Question ID = 2778][Question Description = $2_qSNz_PG_GP40_Q03]
1.

4) Study the table carefully and answer the question that follow.

The following table have 5 items along with number of items brought and sold for each guarter for each ftem.

(B - Item brought initially in the guarter, S - Iltem sold fn that quarter)

Quarter -> Q1 Q2 Q3 Q4
Items B s B s B 5 B s
A 300|170 400 335|370 |320|410(370
B 270|180 | 280 | 200 | 350|330 |380(340
C 280|210 | 350|310 | 250|200 250|200
D 320| 250|340 | 290|280 | 180|280 | 240
E 325|275|370 (315|320 |170|265(190

TRTET B Ay afen sz Bre g o1 w=ae b

At mierst # aikr awgali sz 9o Fdt 3 T o 9 e 6 siz=n &1 o § (B - Ford & s i o o =1 e, S - 5o Fendl 3 Regm o =1 9]

Pt -> Q1 Q2 Q3 Q4
my |B|S|B|S|B|5|B|3
A (3001170400/3352703204 10370,
B [2701180280200350330380(3 40
C  [280[2101350[3 104250120012 50200
D [3201250,340[29012801801280(240
E [325275370[31532011701265(190

Which quarter has the minimum bought to sold ratic?

Fow et # ag &ity Rroga oo s ogens o & 7

[Question ID = 2779][Question Description = $2_qSNz_PG_GP40_Q04]
1.

Q1
[Option ID = 11113]

. Q2

[Option ID = 11114]

. Q3

[Option ID = 11115]
Q4

[Option ID = 11116]

9) Study the table carefully and answer the question that follow.

The following table have 5 items aleng with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - ltem sold in that quarter)

Quarter ->

Q1

Q2

Q3

Q4

Items B

s

B

5

B

s

B

s
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200|170)400 | 335 |370|320|410| 370

270|180 | 280 | 200 | 350|330 |380|340

280 | 210|350 (310|250 | 200|250 | 200

320|250 | 340|290 | 280|180 | 280|240

m 2 0o o b

325|275 | 370 (315 | 320|170 | 265|190

iR @t AnsEide o e Gre g o e O

T aifewnt 3 ok awgalt ofiz geier Rondt 3t ol o a ferpy @ sie=n 3t o & (B - ot & amdar 3t o oft =18 oo, 5 - oo st f Reeey o =18 awggd)

Romdt - Q1 | Q2 | Q3 | Q4

a3 |B|S|B|S|B|S|B|S

A |3001170400/335(370[320410370

B [270/18028020032503301380340

C  2BOR210350(3 1025020002 501200

D (320250340290230/18 0230240

E |325275370/315[320/1701265(190

Which item has the minimum average items sold for all quarters?
fera awg o Rrega o1 sty sl RoadRed 3 smay w8 7

[Question ID = 2780][Question Description = S2_qSNz_PG_GP40_Q05]
1. B

[Option ID = 11117]
2. C

[Option ID = 11118]
3. D

[Option ID = 11119]
4. F

[Option ID = 11120]

Topic:- GP40_D4_SH1_SETZ_B

1) The interactive content in modern books may comtain a two-dimensional code (2D pattern of dark rectangles) called QR
codes. What is the full form of QR?

sgferes graesi A steedio Ry siadyg & QR ayeonmes fanamft aye (@orét sl wr 2D Heel) 21 s § QR o1 quf ma aer § 7

[Question ID = 2781][Question Description = S2_qSNz_PG_GP40_Q06]
1. Quality Reader/amferdt d==

[Option ID = 11121]
2. Quick Response/itras 3x0iA

[Option ID = 11122]
3. Quality Record/amizrt o

[Option ID = 11123]
4. Quick Router/ras mses

[Option ID = 11124]

2) Arrange the given objectives for cognitive domain in hierarchical order as the basis of the complexity of the task
A. Application

B. Evaluation

C. Knowledge

D. Analysis

E. Synthesis

Choose the correct answer from the options given below

sl A® S @ foroileifian sgedl ©! orl &l sfea @& arens uz uealurfors o A caatéerm Hifsw |
A, sy
B. el
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C. st

D. Rrddger

E. sircuur

ol fou =g fRepedl 3 3 A1 s @1 aus difane

[Question ID = 2782][Question Description = S2_qSNz_PG_GP40_Q07]
1. A,E,B, D, C

[Option ID = 11125]
380,70, B

[Option ID = 11126]
3. C,A DEB

[Option ID = 11127]
4. D,B,C, A E

[Option ID = 11128]

3) Given below are two statements

Statement I: Working memory has a development trajectory- it increases throughout childhood and it decreases on ageing
Statement |l: Working memory does not get adversely affected by ongoing stresses,

In light of the above statements, choose the most appropriate answer from the options given below

ofir <1 erer Ew s &

ool - | ¢ orivia T3t o [rprarsae ud 2o 8 533 dicerpial A gl gicll E 3z ARy agol B HIef Ig fedl &

et - 1| ; eridlia i uz 3 cad o yftrpa gurd oiét usar 2

IWRb Dol & Alchs 3, offa e s faweal 3 31 712 IUPTD 32 O a-le SIfsu |

[Question ID = 2783][Question Description = $2_qSNz_PG_GP40_Q08]
1. Both Statement | and Statement |l are correct /asem | 0z || 3t =28 £

[Option ID = 11129]
2. Both Statement | and Statement [l are incorrect/wem | 4% || ciei sewr &

[Option ID = 11130]
3. Statement | is correct but Statement Il is incorrect/wem | a8 &, freg oua || w2

[Option ID = 11131]
4, Statement | is incorrect but Statement [l is correct/wem | #ram &, freg wem | w2t 8

[Option ID = 11132]

4) Choice Based Credit System allows students to choose which of the following?
A. Interdisciplinary

B. Intradisciplinary

C. Skill-oriented papers

D. Open-book examinations

E. Cataloguing services

Choose the correct answer from the options given below:

ferpeu amenfya @ Regmedt fenfibt o BeafiRan oot &bt argafa 24t 8 .

A, afafferft

B. aier:forerht

C. wior 3oz Uz

D. #7r g wien
E. sfioeor Jam
ikl f6u oo fRrpedl d A A8 37 w1 o= Bl

[Question ID = 2784][Question Description = S2_qSNz_PG_GP40_Q09]
1. A, Band C only/dam A, Bafiz C

[Option ID = 11133)
2. B,Cand Donly/@aa B, C afiz D

[Option ID = 11134]
3. C,DandEonly/@a=a C, DaRE

[Option ID = 11135]
4. A, Dand Eonly/@aa A, D3z E
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[Option ID = 11136]

5) Match List | with List I

List | List Il

Information Processing Model Developer

A. Inductive thinking I. Hilda Taka

B. Mnamaonics Il. Michael Pressley
L. Advance Organisers I, Bill Gordon

O, Synetics I¥. David Ausubel

Choose the correct answer from the options given below:

et -1 =1 et -1l A gk Hifem ¢

oyt | it -l
(e getrma dise) (RrepTa1 el
A, FEHEIRHD I |. Bes1

B. zgfey s |I1. anveser et
C. sl Fenwn Ill, feret stidar
D. srasn saeas B aencsres By (Reiftas) IV¥. 3fas aogas

ot o o et &® 3 =8 3wz gens ©

[Question ID = 2785][Question Description = $2_qSNz_PG_GP40_Q10]

. A=, B-1,C-lIl,D-I¥

[Option ID = 11137]
2. A-1,B-Il,C-IV,D-l

[Option ID = 11138)]
3. A-IL,B-IV,C-ll,D-l

[Option ID = 11139]
4. A-IV,B-Il,C-1,D-I

[Option 1D = 11140]

prepp
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6) Scientists should put aside, their personal beliefs and biases and see the world as it "really” is. Which one of the following
philosophical positions supports the above statement?

dsforn] ©f siud forsll fararsl i1z AEE] @I ud 31z o glorn @ d31 & Swaen migy Szl ag 'aeaa A 2 Toeaifafiaa 3 3 @ia it zelfors

sraf¥efer Fa3ies wera o Tadea ol £ 7

[Question ID = 2786][Question Description = $2_qSNz_PG_GP40_Q11]

1. Constructivism/zarms

[Option ID = 11141]
2. Inductivism/Eraraoaans

[Option 1D = 11142)
3. Positivism/gruasms

[Option ID = 11143]
4. Post-positivism/30= - grreras

[Option ID = 11144]

7) Which of the following are the characteristics of a strong hypothesis?

A. Adequate for its purpose

B. Potentially testable

C. Presently testable

D. Better than its rival hypothesis

E. Unrelated to the theory

Choose the correct answer from the options given below:

FHQITH Yrabeudl O ermfiiaa ffdmeam &

A, saal 32 o fow walg
B. Fisnfas u 3 wilzmr asa
C. adam d aflamr asa

D. st gitrrasl gqraaeasn 2 Saaz
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[Question ID = 2787][Question Description = $2_qSNz_PG_GP40_Q12]
1. A,Band Conly/@a= A, Baie C

[Option ID = 11145]
2. A, CandDonly/daa A, Caa D

[Option ID = 11146]
3. B,DandEonly/gmm B, D3z E

[Option ID = 11147]
4, C,Dand E onlyf@aa C, DA E

[Option ID = 11148]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Causal relationship between the independent variable and the dependent variable cannot be established
beyond doubt, if the researcher fails to control the conditions.

Reason R: A set of confounding variables are likely to influence the value of the dependent variable, if they are not
controlled by the researcher.

In light of the above statements, choose the most appropriate answer from the options given below
i) ot et B a0 & 1 wep afswperar (Assertion A) @ wu # iz g1 33 orw (Reason R) & wa & &

siffreperer (A) @ Fameg o= il g v & AT R Hde o ARl Fu A Faftn &8l R st o € aie siteroat Brafer o Grifta o
3 fnba Tgan 8

oL (R) : 39 =3l o1 v A anfdfa e @ el @Y Puida o2 Twa 2 Al 368 oiersal g Prift oifY fsan e 3
RN WGl & e 3, S Ry Aeedt 3 3 718 sz o aem Hifae

[Question ID = 2788][Question Description = 52_qSNz_PG_GP40_Q13]
1. Both A and R are correct and R is the correct explanation of A/{A) diiz (R) si=f =8 £ &z (R), (A) &t 38 =no=n 2

[Option ID = 11149]
2. Both A and R are correct but R is HOT the correct explanation of Af{A) #& (R) 3= =2 & wsmg (R), (A) 5 =58 = ot £

[Option 1D = 11150]
3. Ajis correct but R is not correct/(A) 3t & qweg (R) o o= 2

[Option ID = 11151]
4, Ais not correct but R is correct/ (A) =8t =i 2 womg (R) =20 8

[Option ID = 11152]

9) Given below are two statements

Statement |: A moderating variable is a second independent variable that is included because it is believed to have a
significant contingent effect on the original independent variable

and dependent variable relationship.

Statement |l: An extraneous variable may conceivably affect a given relationship between the independent variable and
the dependent variable.

In light of the above statements, choose the correct answer from the options given below

ofl &Y west Re e 3 ¢

et - | 1 af¥frmme o v Grdler yada oz 3 B33 onfira Rear sren 8 axifds aren siar 8 By g waasy o3, nfdfa o dder a3 s3or
sgragyl snoliiae gua 3 awar @

werd - || | Tader oz

Il el S arclo 3 Rustelian Roedl 3 3 w18 v gt |

[Question ID = 2789][Question Description = $2_qSNz_PG_GP40_Q14]
1. Both Statement | and Statement 1l are true/=eme | & | Sl =& &

[Option ID = 11153]
2. Both Statement | and Statement [l are false/wem | iz 1| Siad oext &

[Option ID = 11154]
3. Statement | is true but Statement Il is false/wem | 3va &, Frog wvem || oewa 2

[Option 1D = 11155])
4, Statement | is false but Statement |l is true/wem | apw &, Fyeg wee || w8

[Option ID = 11156]

10) Match List | with List Il
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List | List Il
4. Grounded Theory I. Altheide
B. Critical discourse analysis Il. Foucault

C. Thematic analysis

. Glaser and Strauss|

[. Ethnographic content analysis

1Y, Braun and Clarke

Choose the correct answer from the options given below:

it -l it et -1l @ g <hifrs ¢

et - et I
A, snenives Bogiv l. vedrs
B. waftenraay Prat fndr I, wm
C. e Rredveror [T —
D. By sty sy V. sffer st e

it 2w o Rroedl # 3 w48 oow gn ¢

[Question ID = 2790][Question Description = $2_qSNz_PG_GP40_Q15]

1. A-ll,B-I¥,C-1,D -

[Option ID = 11157]
2, A-1,B-lI,C-IV,D-N

[Option ID = 11158]
3. A-l,B-lIl,C-IV,D-

[Option ID = 11159]
4, A-lll ,B-N,C-¥,D-l

[Option ID = 11160]

11) Which one of the following makes communication ineffective?

forraifertian 3 21 oo HOEm oY forogendt gom Sar & 7

[Question ID = 2791][Question Description = $2_qSNz_PG_GP40_Q16]

1. Clarity/swzrn

[Option ID = 11161]
2. Ambiguity/sermekea

[Option ID = 11162)
3. Brevity/wfdmn

[Option ID = 11163]
4. Sincerity/emoem

[Option ID = 11164]

12) Which one of the following is not a barrier variable in communication?

FAgaur 3 GrakiBan # 31 @i v 3RErs @ a8 & ?

[Question ID = 2792][Question Description = S2_qSNz_PG_GP40_Q17]

1. Culture/==git

[Option ID = 11166]
2. Eye-contact/=@gj - Jow

[Option ID = 11167]
3. Curiosityfsrgmma

[Option ID = 11168]
4. Climate/searg

[Option ID = 11165]

prepp
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13) A communication scenario in which two teachers are debating about the curriculum for the 21 century, is an instance

of:

O wguor afvesw Brrafifaa & 3 v sorsver € R o stamew 21 F 78 3g aerraf S dder dasa or BE?
[Question ID = 2793][Question Description = $2_qSNz_PG_GP40_Q18]

1. Group Communication/ e =t

[Option ID = 11169]

2. Interpersonal Communication/ smieiRET i

[Option ID = 11170]

3. Lateral Communication/aifdar st

[Option ID = 11171]

| 4. Diagonal Communication /s Fimor
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[Option ID = 11172]

14) In which one of the following types of communication, the data is pushed from a server to a client without client
request?

forrmfertian 3f 21 b1 goorr &5 AYEI 3 YRIDI & Mellel @ fdon & wrdz A YDl a@ od (S1er) erdsel [ s 2

[Question ID = 2794][Question Description = $2_qSNz_PG_GP40_Q19]
1. Pull Technology/ =ffamr (g} gienfest

[Option ID = 11173]
2. Education Technology/ Bisr giiswst

[Option ID = 11174]
3. Push Technology/ e (ger) giehfrEt

[Option ID = 11175]
4, Ancient Technology/urlsr gi=nErE:

[Option ID = 11176]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Active participation of all students in a classroom is an indicator of the teachers’ communication skills.
Reason R: Teachers should focus more on classroom management (as discipline matters) than instruction.

In light of the above statements, choose the correct answer from the options given below

ofta €t werer Rw 1w ¥ 1 wes Afdrsest (Assertion A) @ w=a 3 afiv gz 3@ o (Reason R) d wa # :

sfdreperst (A) © wven H mefl RenREA & afdya wssnfe starae & wduor wier w1 gaw 3

R (R) ©: 3EANRDI 1 Aelcoll &5 FeIel U e Yol (S Ieieieiel JH«eh ko) s vipa oo gz

IRITe el & el 3, ik ow oo Repedl 3 3 318 37 ©1 o=@ $ifam ©

[Question ID = 2795][Question Description = S2_qSNz_PG_GP40_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 4z (R) St =1 £ = (R), (A) & =t e &

[Option ID = 11177]
2. Both A and R are true but R is NOT the correct explanation of A/(A} iz (R) Sl 3w 2 aweg (R), (A) &t 98 =re=n o 2

[Option ID = 11178]
3. Ais true but R is false/{A) =1 &, wog (R) s

[Option ID = 11179]
4. Ais false but R is true/(A) aor= &, moeg (R) 3w 2

[Option ID = 11180]

16) What comes next in the following sequence?

12 4 8

2 618" 54"

forraifertianT aioram 3§ HTo] o=T eI & 7

12 4 8

2°6'18' 54"

[Question ID = 2796][Question Description = $2_qSNz_PG_GP40_Q21]
1. 10/108

[Option ID = 11181]
2. 24/108

[Option ID = 11182]
3, 16/162

[Option ID = 11183]
4. 167106

[Option ID = 11184]

17) Given below are two statements
Statement |: The product of all the digits on the dial of a telephone is 15840.
Statement Il: At 10% interest rate, Rs 10000 will become Rs, 13310 in 3 years, when interest is compounded annually.

In light of the above statements, choose the correct answer from the options given below

oY 1 et Ru s E ;
werel - | @ ecfiblal @ sre uz 20l 3wl o1 spurasan 15840 2
were - |l ¢ 10% & g2 uz 10000 5ua 3 ad # 13310 593 8 sdel s &2 aiftfes wu 31 Haifert e wme
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ITe DuEl & AclS A, ol T 716 [aocal d 3 #dl 3az o oga $ifas ¢

[Question ID = 2797][Question Description = $52_qSNz_PG_GP40_Q22]
1. Both Statement | and Statement Il are true /=@ | &z || Seif @y &

[Option ID = 11185]
2. Both Statement | and Statement [l are false/usem | & 1 Sial spxea 3

[Option ID = 11186]
3. Statement | is true but Statement Il is false/waw | 3ra &, Frog wvem || oera 2

[Option ID = 11187)
4, Statement | is false but Statement Il is true/wem | apr= &, Fresg wem || = &

[Option ID = 11188]

18) Consider the following fractions:

A, B/9

B. 9/11

C. 2/3

D. 7/9

E. 7/11

Which of the following is the correct decreasing sequence?
feremtert3na fiea az frawr Hifse :

A. 8/9

B. 9/11

C. 2/3

D. 7/9

E. 7/11

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 2798][Question Description = S2_qSNz_PG_GP40_Q23]
1. B=A=D=E=(

[Option ID = 11189]
2. A>B=D=C>E

[Option ID = 11190]
3. AxBxC=E-D

[Option 1D = 11191]
4. B=A=C=E=D

[Option ID = 11192]

19) The angle made by the minute hand of a clock while moving from 4:40 pm to 6:10 pm is
a3l A f¥e1e & 733 saes 4140 a1 A auzis 610 a6t &6l 3z s # Dicd AT I Jakwdl 2 7

[Question ID = 2799][Question Description = $2_qSNz_PG_GP40_Q24]
1. 450°

[Option ID = 11193]
2, 540°

[Option ID = 11194]
3. 490°

[Option ID = 11195]
4, 610°

[Option ID = 11196]

20) A vendor allows a discount of 16% to his customers and still gains 20%. The marked price of an item, which costs the
vendor ¥ 11900, is

wp [RRp T3t Sie @1 16% @1 w31 (RBerEc) oar g iz fibe ot 20% o afsla e & faret st aeg ¥ 11900 3 g &t &, s: o
aifepa oca 8 -

[Question ID = 2800][Question Description = $2_qSNz_PG_GP40_Q25]

1. TA7000

[Option ID = 11197]
2. % 15700

[Option ID = 11198]
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| 3. 16800

[Option ID = 11199]
4. % 14800

[Option ID = 11200]

21) Match List | with List I}

List |

Functions of Language Examples

4. Directive Function

[. That's too bad.

B. Expressive Function

II. 1 apalagise,

C. Informative Function

Il. Close the window.

D. Performative Function ll'\r". Mew Delhi is the capital of India.

Choose the correct answer from the options given below:

It -l Y el -l 3 A e

it -1 et -1

(e 5 TEpE) |(ssrEToT)

A. Brioneas gwrt ). @ s w2
B. sificaferaes g In. 3 oare v
C. FErmraes gl |III. Fasdlt &% w7 5l

D, freareor greet

e

oilEr By w0y Fravedt 3 3 sl ey gty

[Question ID = 2801][Question Description = S2_qSNz_PG_GP40_Q26]

1. A-IL,B-l,C-1,D-IV

[Option 1D = 11201]
2. A-ll,B-1,C-IV,D-I

[Option ID = 11202]
3. A-ll,B-1,C-IV,D-l

[Option ID = 11203]
4, A-I1,B-IV,C-ll,D-l

[Option ID = 11204]

prepp
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22) ldentify the fallacy committed in the argument: "Since all humans are mortal, the human race must some day come to

an end"”.

foreater¥oa 3 aed g & gsae HifSe

"dfts Tl Aepen oraz E, Irm: v e wera SRy srag WA & sesh T

[Question ID = 2802][Question Description = $2_qSNz_PG_GP40_Q27]
1. Fallacy of Amphiboly/arr ma

[Option ID = 11205]

2. Fallacy of Composition/J=g 8m

[Option ID = 11206]

3. Fallacy of Division/ e s

[Option ID = 11207]

4. Fallacy of Converse Accident/3at - ofr - Sg

[Option 1D = 11208)]

23) Identify the fallacy committed in the argument

Some spaniels are not good hunters,

All spaniels are gentle dogs.

Therefore, no gentle dogs are good hunters,
forgmteiiian i awma™ &l usdlel i |
oo Tforrd 3= BT oidt 2 2

3t Faforra onie (Sieer) S BT &
3, I ot o @y arcot Rrerd aft 2 &

[Question ID = 2803][Question Description = $52_qSNz_PG_GP40_Q28]

1. Fallacy of Exclusive Premises/=imades snuides S
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[Option ID = 11209]
2. Fallacy of llicit Major/s=ng - 3 - M

[Option ID = 11210]
3. Fallacy of licit Minor/ s - as - S

[Option ID = 11211]
4. Fallacy of Four Terms/a= ug g

[Option ID = 11212]

24) Which of the following pramanas are accepted by the Nyaya School?
A. Pratyaksa

B. Anumana

€. Upamana

D. Sabda

E. Arthapatti

Choose the correct answer from the options given below:
IRl R ughi # orofafiaa # 3 <la 3 yam sarea £ 7

A, gram

B. aropmet

C. 3uast

D. oreg

E. aterfafzr

oflal 1w a1v taascal 3F 31 7ét FrT @1 aga bifae

[Question ID = 2804][Question Description = $2_q5Nz_PG_GP40_Q29]
1. A, Band Donly/sam A, B 3fiz D

[Option ID = 11213]
2. A, Band Conly/@am A, Bafiz C

[Option ID = 11214]
3. A,B, Cand Donly/sam A, B, C 4z D

[Option ID = 11215]
4, A, B,DandEonly/daa A, B, DA E

[Option ID = 11216]
25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : According to the Nyaya system, the argument "Sound is quality because it is visible is fallacious.”
Reason R : It commits the fallacy of Svarupasidhha.

In light of the above statements, choose the most appropriate answer from the options given below

i) ot et B a0 & 1 wep afswperar (Assertion A) @ wu # iz g1 33 orw (Reason R) & wa & &

sifirreret (A) : = yonedl @ AR, eafet e spuT & Wik ug Tt & o Sraget &

wrvl (R) 1 as Fawea afiig o 3

IRITE DU D ACIRD A, sk By rpodl # A 78 33 o1 wa G ©

[Question ID = 2805][Question Description = S2_qSNz_PG_GP40_Q30]
1. Both A and R are correct and R is the correct explanation of A/(A) Jfiz (R) 3=t 28 & Jfe (R), (A) © = =omeen &

[Option ID = 11217]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) &k (R) o= =2t & memg (R), (A) D =t =mecn =t 8

[Option ID = 11218]
3. Ais correct but R is not correct/(A) =it 2 ueeg (R) =8t =i &

[Option ID = 11219]
4. Ais not correct but R is correct/{A) =t =2 8 uwag (R) = 2

[Option ID = 11220]

26) What type of non-volatile memory would most likely store firmware, like a computer's BIOS?
DET @ df arE 3t oA AN wHAR ol foaitaiian 3 3 fow gor &I 31z - diuefia IEid sisiz & 3 o1 &t Faifes Fiwme 2 7

[Question ID = 2806][Question Description = S2_qSNz_PG_GP40_Q31]
1. RAM/amz oo
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[Option ID = 11221]
2. EEPROM/E £t ame i war

[Option ID = 11222]
3. Hard Disk/a< fdws

[Option ID = 11223]
4. Tape Drive/eq sma

[Option ID = 11224]

27) Identify the correct sequence of the following storage devices in the descending order of their emergence.
A. DVD

B. CD-ROM

C. Magnetic Tape

D. Floppy Disk

Choose the correct answer from the options given below

foreoiterlian sisrevl ARl © J0d @ A3 HARIAR A3 3o B usam B :
A Stdt &

B. =it 1 - an= 3it v

C. dsafp 2u

D. ot e

ol 8u oo Rrpedl d 31 718t 3w @1 ags &l

[Question ID = 2807][Question Description = S2_qSNz_PG_GP40_0Q32]
1. B,A, D, C

[Option ID = 11225]
2. A,B,C,D

[Option ID = 11226]
3. A,C,D,B

[Option ID = 11227]
4. A, B, D,C

[Option ID = 11228]

28) Given below are two statements

Statement | ; ‘Twitter' is a microblogging site that is very restricted on the size of the post,

Statement Il : "Wiki' allows readers to edit posts, and entries in it are usually not in chronological order.

In light of the above statements, choose the correct answer from the options given below

danzel o Fider 3 offar & woe Re s 8 ;

Dol - | 1 'RRae o wEmleanEiel Age 2 ol Qe Bl Ui @ bR & ar 3 acafies Hi 2

e - Il ; 'Tbt arus! ureml @l Ulze FHalfea ol Bl el S 3 afiz sl YlaReai AHIRI SIaGHIGIE ofél aidl 2
IWRp Dol & Alchd 3, ofla 0u s fameal 3 2t 7t Tz o aae $ifam @

[Question ID = 2808][Question Description = 52_qSNz_PG_GP40_Q33]
1. Both Statement | and Statement || are true /o | &z | SE 30 &

[Option ID = 11229]
2. Both Statement | and Statement Il are false/wem | A || il sera 3

[Option 1D = 11230]
3. Statement | is true but Statement Il is false/=wem | 3= &, fveg T || o &

[Option ID = 11231]
4, Statement | is false but Statement Il is true/mem | 3= 2, freg oo || F= 2

[Option ID = 11232]

29) With respect to computer storage devices, which of the following is/are magnetic storage device(s)?
A. CD-R

B. DVD-RW

C. Flash memory stick

D. External Hard Drive

Choose the correct answer from the options given below:
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DRICE HSRYI ATt @ FHdel d, ToelcRaa 3 3 oo - wiol Aol s AEHs & ?
At 3 - e
B. 3t 31 - ame soevg
C. weior Aakl Rew
D. amdzE s
ol fow =g fepedl 3 3 At v @1 awe difen ©

[Question ID = 2809][Question Description = S2_qSNz_PG_GP40_0Q34]
1. Conly/ama C

[Option ID = 11233]
2. Donly/asr D

[Option ID = 11234]
3. Cand Donly/awm C iz D

[Option ID = 11235]
4, Aand B only/@am A B

[Option ID = 11236]

30) Match List | with List Il

List | ist 1l

Memory Devices emory Types

A. Pen Drive | Optical memory

B. Hard Disk l. Flash Memory

C. CD ROM [1l. Masnetic Memaory
D, RAM ¥, Volatile Memory

Choose the correct answer from the options given below:

2t | 1 et -1l A e B ;

et -1 et -l

(FA1E FTEra) (#HEH o)

A, T ST . groreftr St

B. &rd Byw . wdier A

C. 25 & anz st gw I, gk kst

D. 31z ¢ o V. eiraeiter fandt

==l By o1 feepedt & 3 7381 v giem

[Question ID = 2810][Question Description = $2_qSNz_PG_GP40_Q35]
1. A-ll,B-IN,C-l,D-IV

[Option ID = 11237]
2. A-Il,B-I,C-1,D-IV

[Option ID = 11238)]
3, A-I,B-IN,C-I¥,D-

[Option ID = 11239]
4, A-IV,B-Il,C-11,D-l

[Option 1D = 11240]

31) Given below are two statements

Statement |: Oxidative stress is an imbalance between accumulation of oxygen reactive substances and ability of body to
destroy them.

Statement Il; Oxidative stress is significantly lowered by the presence of oxidants.

In light of the above statements, choose the correct answer from the options given below

ofixr 21 Statement Ruam & ;
Statement |; sRiiaa cam Al Fldrncae ucrell @ uasqul iz 3oé oIt @l ol otz &l gial @& i 3Rigad &
Statement ll: srrfieon cam sl &I suflefa # o1l @a 3 oo 2

IRRG WG] & ICRD 3, sk Ry roodl # 3 318 30z o1 wa Hifse

[Question ID = 2811][Question Description = $2_qSNz_PG_GP40_Q36]
1. Both Statement | and Statement || are true/Statement I 33 Statement IT g 30 & iz Statement 11, Statement I @5 28 =nE=n &
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[Option 1D = 11241]
2. Both Statement | and Statement |l are false/Statement I 3fiz Statement II el 30T & wiog Statement 11, Statement I <51 38 = @l &

[Option ID = 11242]
3. Statement [ is true but Statement |l is false/Statement I 3= &, wemg Statement I s 2

[Option ID = 11243]
4. Statement | is false but Statement Il is true/Statement I izra &, wWog Statement 11 sk 8

[Option ID = 11244]

32) What is gasohol?
Sslglc o & ?

[Question ID = 2812][Question Description = $2_qSNz_PG_GP40_Q37]
1. A type of chemical used for chemical remediation of waste water/ufdks 5T & Ferabes 00T dF By gEET B o6l 9] OF ER © 3HRE

[Option ID = 11245]
2. Aninstrument used to detect gas leakages in factories/ Sacti=i # iz Do o1 wn cemet @ RBre geiler fen =01 wen wr soas

[Option ID = 11246]
3. Mixture of gasoline and ethanol /i iz weaio o A

[Option 1D = 11247]
4, Atype of chemical for the decomposition of stubbles/mel (FowrT) © e o Be v gore @1 w=mm

[Option ID = 11248]

33) The target year for achieving the Sustainable Development Goals is
Ferrzuii farpra agdl (wa 41 off) @ g ool o oga ad 2

[Question ID = 2813][Question Description = S2_qSNz_PG_GP40_Q38]
1. 2020

[Option ID = 11249]
2. 2025

[Option 1D = 11250]
3. 2030

[Option ID = 11251]
4. 2035

[Option ID = 11252]

34) Match List | with List I}

List | |List ]

Disaster Management Cycle Compenents |Exp|anation

A, Pravention |I. Land-use planning
E. Preparedness |IL Rescue

C. Recovery |III. Risk assessment
D. Response |I‘I.r‘. Construction

Choose the correct answer from the options given below:

Il -l Y el -l F A e

et -l et -l

(ATITT it O HACD) (avtar)

A, Faram |, 3] FoRIET ArTet
B, t=mdt Il, e

C. Eravens . silZrs sraras
L. gege IV, frarfor

oflEr By w0y Fravedt 3 3 sl way gty

[Question ID = 2814][Question Description = $2_qSNz_PG_GP40_Q39]
1. A-IL,B-1,C-Il,D-IV

[Option ID = 11253]
2. A-l1,B-1,C-IV,D-N

[Option ID = 11254]
3. A-1,B-NI,C-I,D-IV

[Option ID = 11255]
4. A<, BN, C-I¥,D-ll

[Option ID = 11256]
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35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The decibel level for a given loudness may be different at different frequencies in the audible range.
Reason R: The human ear has a differential frequency response.

In light of the above statements, choose the correct answer from the options given below

i) ot ot Bw a0 & @ wep afswperar (Assertion A) @ wu # iz g1 33 orw (Reason R) & wa & &

sif¥rpera (A) : goa eafer gaor @ R o= ga # e fiea sogferil ur e (33iaa) e fiea ot o &

ool (R) :  Joma ool @1 Rstew angfe gz & 2

TRITG WUl @ AeRe #, o By froedl 3 3 w18 30z @1 e Hife :

[Question ID = 2815][Question Description = S2_qSNz_PG_GP40_Q40]
1. Both A and R are true and R is the correct explanation of A/(A) 4z (R) St =1 £ 8= (R), (A) & =t e &

[Option ID = 11257]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} iz (R) 315 37 & uzeg (R), (A) & 98 ==n ot 2

[Option ID = 11258]
3. Afs true but R is false/{A) =1 &, wog (R) s &

[Option ID = 11259]
4. Ais false but R is true/ (A} a=es &, weg (R) 3w 2

[Option ID = 11260]

36) For reservation of the socially disadvantaged sections, the ceiling fixed by the Supreme Court of India is-
Hfse a3 FlaendRed dasl & f1e anzgr o Fide d sed & I saRer g Tl sifrooasn #iter 8 ¢

[Question ID = 2816][Question Description = S2_qSNz_PG_GP40_Q41]
1. 28%

[Option ID = 11261]
2. 40%

[Option ID = 11262]
3. 50%

[Option ID = 11263]
4, 55%

[Option ID = 11264]

37) Which of the following is termed as the Magna Carta of English Education in India.
freaiferfiora 3 A Roa sy i 390 fAren o1 wAafrez - aq wsr s 3 7

[Question ID = 2817][Question Description = $2_qSNz_PG_GP40_Q42]
1. Elphinstone's minute /eiuecer wrig

[Option ID = 11265]
2. Macaulay's minute/dor TRga

[Option ID = 11266]
3. Wardha education scheme fuerf s Boam

[Option ID = 11267]
4. Wood's Despatch /g tao (i)

[Option ID = 11268)]

38) According to the Indian Constitution, some fundamental rights of the citizens can be suspended during
AR FlEol & Ie[AR APIEEL @ o Jeak fRpRI @ forafiiRan # 3 Rewads siae ferafem R s swwmar 8 7

[Question ID = 2818][Question Description = S2_qSNz_PG_GP40_Q43]
1. National disasters/Imgkr et

[Option ID = 11269]
2. National emergency /e amoe Rt

[Option ID = 11270]
3. Financial emergency/ Rl amms Raf

[Option ID = 11271]
4, National elections/a="= fafam

[Option ID = 11272]
39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The complexity of the social context in which higher education exists in India, very likely, makes
systemic reforms impossible
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Reason R: The inadequacy of infrastructure and the attitude of the academic community to prefer status quo than taking
risks, with experiments and innovation that

require initiative and considerable efforts, are the principal impediments.

In light of the above statements, choose the most appropriate answer from the options given below

i <) wewl Ru s 8 1w aifdrsee (Assertion A) @ wu 3 sz g 351@ @reor (Reason R) S =a 3 ©
sifdrcserar (A) @ srea 3 3o Rrgn & Rrenmerar © sl sl &t sfeaan swam: gonedl st gensd @) siwba gon St 3

wreor (R) : sroaba sraseaen s sevcler agcrr 1 gaieT iz adior afvadal o sifdas sorar &6t aemer, a9ifs saa asa s ok grme &
ARGl &, aen-Refe o st 2o gena

3rRier 3
IURIE el & AcD d, Jdk Ry faecdl 3 3 718 saz o1 mea Sifse

[Question ID = 2819][Question Description = $2_qSNz_PG_GP40_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) sz (R) 3=t 28 & Jfw (R), (A) © = =ome=n &

[Option ID = 11273]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) ik (R) o= =2t & memg (R), (A) D w2t smecn =t &

[Option ID = 11274]
3. Ais correct but R is not correct/(A) ot & weg (R) ot ot &

[Option ID = 11275]
4. Ais not correct but R is correct/{A) 3t =2 8 wwog (R) = 2

[Option ID = 11276]

40) Given below are two statements

Statement I:  Education for sustainable development has to be related to the process of taking decisions pertaining to
economy, politics and natural environment

Statement ll: Inviting senior citizens to schools and allowing them to speak on the envireonment of their childhood, may help
in developing a concept of sustainable development

In light of the above statements, choose the most appropriate answer from the options given below

ol <1 erer fEw s &
werel - | @ Fiemvii Rerr & e g @1 selcaazren, wswEii Az grelis uatazn st fowta det &1 gitsen 21 dag dlen &
el - || ; afeso careiiie] o fenal 3 ARIfA ool iz 308 Ul arceraran & ualazvr & ark 3 dictel &l el ¢or A Henzofl famra &I

sragrzon fwhia o # asran Bia aod 3
s el @ el #, oA Re s1e Rroseal 3 31 393 sagvs az o aae Hifse

[Question ID = 2820][Question Description = $2_qSNz_PG_GP40_Q45]
1. Both Statement | and Statement Il are correct/mem | AR |l Sl &

[Option ID = 11277]
2. Both Statement | and Statement [l are incorrect/mam | iy 1] 39 amm £

[Option ID = 11278]
3. Statement | is correct but Statement Il is incorrect/wem | @1t &, Rreg oo || orwr &

[Option ID = 11279]
4. Statement | is incorrect but Statement |l is correct/@emt | swr 8, Preg oot || 3@

[Option ID = 11280]

Topic:- GP40_D4_SH1_SETZ2_C

1) Read the given passage and answer the following question,

Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control was
needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and work
processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had none.

Today, the old views of the distribution of power are no longer valid. An emphasis onh control serves to squelch motivation, innovation
and morale, rather than produce desired results. Today's leaders share power rather than hoard it. They find ways to increase an

organization’s brain power by getting everyone involved and committed.

sl feu sEvr @t ufge sz g @1 3w €

oiffsgnelt wdl vy &3 Sy vas wa dray o) 8 Ry weloniil o9t ag aarn some iy B 9 o i S o oot Pears oo By Bt e o8Y wpgrer iz gurdt S A aonst
@ fem Wt frigm w18 2 ol aieofors golt agn, ek orl-ur e orf giend ot Rrega ot Sar wt oo 390 20 fr 5oe 52 otelt o arer areg & e o< act ay
U e ot AT 2

ol BrTam 5 31 A eftesion o el A3 3w A B o ue Sl 3| A aifiva ufooma Brsemy o ase 9, a9 aiyad| i JAed e Sin0 § M6 O T SFE J6 S
&t e 23 Aen o § A graes cafie o enfd AR gifeg on o dena @ diipe aw ot acel © Jur gen 59T o0 oRvl o O § B are & aeleaarar, agfd, swaa
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A1z ;altaii 61 oiifaes ulyduREl &t gy, aga A0 @& Ay Jeen a7 aenfs St s B2 deges e 3 B0 ad gdf 31 ubsiukr aze 9 Sir-Reila Breail @6t g anfiad) an

7 3% gieht 2t ad 2002 o wg gy g @7 ceseT 53 gftvea 8l sren ST aielt sil e Brerae st B saest s & fop gronesr o grafie o arerdta soer B S0 wosonival
o offir oot aeen £ apnditen afiz ava Rrpfha Sot ® wwknliit o difdmrs oz wwiora Taz & off R sk cornt 3t @ gy gf & ot =il o 39 deroa 3 ot aoeat 3 Hase
A & =01 358 wETer Jiz Hiws o sar afT 2 &

o1 6 Rezli Fema o giala B 8 wefia oom 96 o sz <61 e off, unalice marer i Brigu & s st mee 3 Or! @2 7381 o eng FeeHl @ et @
Rt an wid ars w1t Brom :n aos aeenn At avdmbed ot difpe g @z Bol oxdt E ik svnal ot 53 ook sbioe o Feen o § 2o sanwdl s aefier @
FOIRAeE 51 Jdd &) $HIEl O S5

Which one of the following reflects the traditional conceptualization of leader?
Frrafaiiaa & 3 Tia o o1 upalys dgerRite giifkta oo g ?

[Question ID = 2821][Question Description = $2_qSNz_PG_GP40_Q46]
1. Shares power with employees/weimiyt o5 amer oty s e

[Option ID = 11281]
2. Commands and controls employees/ oiaiED © fw Tca 9 BEkgo

[Option ID = 11282)]
3. Creates opportunities for learning for employees /wefntsmit «f Pw e o s afrr ween

[Option ID = 11283]
4. Uses employees knowledge /mfcnfe=l o Ama @ GEIsT

[Option ID = 11284)]

2) Read the given passage and answer the following question.

Leaders in powerful positions once thought workers should be told what to do and how to do it. They
believed strict control was needed for the organization to function efficiently and effectively fixed
organizational hierarchies, structured jobs and work processes and detailed procedures, let everyone know
that those at the top had power and those at the bottom had none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation
and morale, rather than produce desired results. Today's leaders share power rather than hoard it. They find ways to increase an

organization’s brain power by getting everyone involved and committed.
oilal few sren9r ol ulew 3iiz Y S13az ¢ &

oIfepotcil TSI Uz &3 ol Ueh I Al B 8 Kb el oI @1 adrn siel 9iidv 6 d oo @7 iz &3 ©F Il farara a1 & [Rest
FHoloel DI @rd 3T gHIE! &7 3 adlal @ i o3t Briqul 5158 2 ol sl it o, ad ori-uz iz oF gigan siiz fawga
ugkmi gxp @t aa 3t ¢ fr az &3 el & ur area & iz i adl © ar= @ o &8t 3

oIfl?p Rixeur @ & el eficelvr amar e ol 35 9e & [erigur Uz Sk oo A aiffsa ufywna e @t aene gzvn, o uf¥arde iz #eliaa @ren
Sl & TSl @ ofell 9Ifvh I3 @vol ol Tl 3 TSN BT 8 d YD ouleb @l onfaa 3z yftag oo o3 2is1ge @ difge ad ol agil &
JURI GoA 3 SHEI O @0l A U5 § 5 airet ot seferaren, yfty, srer iz wmoficil @ diftres afysiaRed & were, agn it © e goon av
et St T T 3 vigee wsa & 50 ad g A ubHufr s S Si-Rirda BERl 6 g B o1 73% add of ad 2002 0w O
AGIUN TIC &2 colET 53 giaer 3t sk 3iiz anft oft 21z Brrae oirdl 3 3ot arel 2 fp Icurcor o1 Qretdics ©Ird AT Sier 3 &Y ol Bt
oIf?p ! Al 3 I iz 3y RieoRia 2ol 3 woknlvn @ difdre afiz wivial e | 91t e solo serpl 3 wiaa gl g3 & amio oalip s
U3 Ferowl 3f BRI Sl 3 Fgee oidl 2 St I weilerd iz Mol o1 sawE odf T d

3| oeb [epeft Horoar @ gftftar 8 @ie Fofler el & fore aregg & simz o, artufe e Al foriqur &t wazend s azs 3 orf o
oft avseg oo @) waalal @ Raret o o oy 8l forer av arer wwerar el aeiafyal B §ifhe smen av Ry wdt B siie aarsii ot
3H oIz GbIb B AN ol & § AU ARG 3 #ofial o1 Fal#ca 3 ama &) sl @& gl

An emphasis on control serves to enhance
foriqur uz aa S A

[Question ID = 2822][Question Description = $2_qSNz_PG_GP40_Q47]
1. Motivation, innovation and morale/Qzon, &g offadda iz #elmm # gig a8t 8

[Option ID = 11285]
2. Productivity and profit/soasasn i wme 3 ofy 2xdt 2

[Option ID = 11286]
3. Demotivation and maintain status quo/zdre 3 giyg e Ten-Raf a it o d &

[Option ID = 11287]
4, Sharing of knowledge/ simer s aea 3 iy Skl 3

[Option ID = 11288]

3) Read the given passage and answer the following question,

Leaders in powerful pasitions once thought warkers should be told what te do and how to do it. They believed strict contrel was needed far the
organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and work processes and detailed procedures, let

everyone know that those at the top had power and those at the bottom had none,

Today, the old views of the distribution of power are no lenger valid, An emphasis on control serves te squelch motivation, innovation and morale, rather
than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization's brain power by getting

everyone involved and committed.
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it B wmivr ml uigw A o o s ©

orfeoenclt ool vF &3 2R v A A o & By gelaniil wt o aven sren iRy G d aen ol o SA wl ao B an By Resdt wieros w1 guene i gerdt 91 #@ avmer
& fem w1 el =i 2 BRm aEchng 4ot o, 3R artane s orl giend i Rega agitrn a5 o 9an 20 o 75 sz 89 Jell @ i aresa & i o adtl &
o o3 ot ot E

urfep Frreor @5 3 gerel efteoiton ar @it ol Iw o § TominpoT uv S 39 At aiffn iy Brossy ot ase geon, e aivarda sii aelac ge sien § a0eT O o 9T ST
wra ol aee 3w o 3 geis e @ onfie ofte gftmeg o v wotonr o difps wer a5 aeiel b IO g & ST I e At Az § Ry s W ardferasen, afar,
wraw iz welist @R sitldves oFysiafaedl o ey, age el O weer gEer o snenfie 20 o v B siges wsw 3 B0 ad o ¥ ofviodiai awwr o Shefadte B &) ave snfeel wr
7 3% 2t et =l 2002 795 wE argara T ave oot 53 gitrera 3 srw ot aneft off o R si@ 2 worenT arel @ Ry aoarser o qrafvr oy anordi e & St weetnliEn O
9IRD 1 GGl & SRR 317 s frehia Sell # el @ ke iz otera e 3l [EE o 2omp] 3 30d 9y 32 3 sore oafe | O3 Hotonl # ORI ©3d A Jgec
ottt & off oot sefiort JiR 2ieet o s o o &

= o Bl Temer ot gfiler 8 o vl oot O P gz o e o, urRulhie war o foreige o serend sredl i 3 ot o 1@ o ooy Aeoet ot aeefeniet O
e 1 o ary o1t Bierar «n s e Tl el o ditowr st 9 Bods owdl § s sl o 51 oo w=hiia @1 A @ I sAredl sl wefis
Fanfhea 1 woed ) Sl oF wt

The example of declining assets (land, building, and machine) is given to
graara afysafeer (s, sam Sy woltw) w1 serrvr Bosfaliay i 3 Frad oy Bar swar 3 ¢

[Question ID = 2823][Question Description = S2_qSNz_PG_GP40_Q48]
1. Emphasize the role of employee knowledge and skills/ ovienfrt @ wmer afir lue B gPee @ @ dan

[Option ID = 11289]
2. Indicate command-and-control of leaders/armail & F=m2er u BrimT wr 2k e

[Option ID = 11290]
3. Suggest rising costs of assets/qifaulrrl < aedl oer o Fema 3o

[Option ID = 11291]
4. Highlight organizaticnal hierarchy/siefie doiien ot Imifsn wwe

[Option ID = 11292]

4) Read the given passage and answer the following question,

Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control
was needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and
work processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had
none.

Today, the old views of the distribution of power are no lenger valid. An emphasis on control serves ta squelch mativation, innovation angd morale, rather
than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization's brain power by getting

everyone involved and committed,
oia 2w srzrier @ ufgw aftz grat @1 3wz ¢ ;

orfrronefl Ul Uz &3 o was FW i & 8 s sz ©f a1z aarn sier a2 6 o awn ©F iz SA T Iaor Aeara o 6 faestt
FHoTo0l Wl W 37 YUK Go1 3 e @ 1w w31 briqur 573t & ©iftm weeor vl o, IR Tri-ur 3z orl gies ik ega
ughml 255 @t am St e o5 az &3 dieil & ur area & itz sfia arcdl & urea o oft aidt

urfep frreor @5 3 gerel efteoton ar &t ol Iw o oo ue S 39 At aifn iy Broses O ase geon, e afvarda sii aeieT gen sie § 20eT o o onive ST
Teol 1 a0 FH AR BE B A gk ke @ onfie i gty w o Fetod OF dlfps a6 O 9610 O JUR G & Sl W6 R ol A8 § e ama & seeleraeen, s,
HaH iz Avitel 6 i ufeake & aere, T et @ Ay e o2 AnaieT SRt on T8 B g s # 50 ad g 3 ofwialiel g o di+Rndta el O g e o
7 3% 2t et =l 2002 o9 wE argar g ave oot 53 gitrera 2 SR ot arelt off o R si@ 2 o arel @ Ry aoarser e qrafvs oy anordi e @ St weetniEd O
oilés w1 wern & arsrflesy oY vy BresBrey Beil A asvienfyeil o difdves sty witgren wae oF ot Py ardies 2orest 3 o o 28 B a5ies eafie ara 0 Hewm 3 vl ot A dSaee
o B ot ow Heiierd i siieet oo argee ol Sen B

ot e Rl Fereer w1 giilRer 8 b arofter wremt & o worgg W6 S oft, arular marer ity forige o e sl g 3 ol o W@ 2 areg deost @ aekolis @
e o1 o ary o1t Biear sn s Jreen el wafli o ditowr ararn 9 Bl ol § s sl ©1 51 oon w=hioa @1 A @53 & I Al sl wefis o
FOIRT & TRpet & SH 1 ot

What is the theme of this passage?
T3 SIEN9I I oo TAT & 7

[Question ID = 2824][Question Description = $2_qSNz_PG_GP40_Q49]
1. Shift from employee empowerment to control/ oot FraRswr 3 Beam & 05 saer

[Option ID = 11293]
2. Diminishing value of assets/ofsaffrl wr sremma s

[Option ID = 11294]
3. How to get things done from workers/ kol 31 £33 Trt e ae

[Option ID = 11295]
4, Employee empowerment leads to improvement in production /amsterdt st 3 scwger 3 guz akn &

[Option ID = 11296]

5) Read the given passage and answer the following question.
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Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control
was needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and
work processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had
none.

Today, the old views of the distribution of power are no lenger valid. An emphasis on control serves ta squelch mativation, innovation angd morale, rather
than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization’s brain power by getting

everyone involved and committed.
oia R srerior ot ufew sz g wraz $ :

oifvsonclt udh uv §3 ot wos wa Aan oA 4 5 el B as garn e aifde fr & o o Aty A o sorr Reara o B Rosht
FHoTo0l Wl e 37 YR Go1 3 e @ e ws1 briqur 578t 8 ©ifkm weeirs 9ol o, IR ori-ur iz orl giem ik ega
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"Today's leaders share power rather than hoard it", means
"ATA & ol HJHT @ FAHT Dol Dl AT I AR ©Ta 2", o aref 2 ;

[Question ID = 2825][Question Description = 52_qSNz_PG_GP40_Q50]
1. Leaders work towards centralization of power /a3 gfte & Sodiarn oI o ot ol &

[Option ID = 11297]
2. Leaders always discourage employee initiatives /s shon wamiyt &t vea o Beraia oxr &

[Option ID = 11298]
3. Leaders distribute resonsibilities among workers/ s sl & da TeeRrE! & foen w5 &

[Option ID = 11299]
4. Leaders pricritize production over worker satisfaction/ s wdor-Fafe w srnge o afemmr &G 2

[Option ID = 11300]




